Royal Vendors'

ELECTROMECHANICAL
VENDOR

Service & Parts Manual

Includes Major Parts Explanation, Vendor Installation, Troubleshooting Tips, and
Exploded Parts View with Part Numbers

VAL

VENDOKS.,

®

Royal Vendors, Inc.
201 Industrial Boulevard
Kearneysville WV 25430 USA

CUSTOMER SERVICE (800) 931-9214
TECHNICAL SERVICE FAX (304) 725-6579
PARTS FAX (304) 725-4016

E-mail: technicalinquiry@royalvendors.com
parts@royalvendors.com



TABLE OF CONTENTS

SAFETY SEGMENT .........ccooooiessseie s 3

SECTION 1: GENERAL INFORMATION

L0104 L1137 ) o AU 5
Vendor IAentifiICAtION ..........cccviiiiiiiieeiie et e e e e e 5
WALTANLY oottt e e et e e e et e e e eabaee e ennbeeeeennssaeeennnnes 7
Creditand Replacement POLICY .........coccuiiiiiiiiiiieciie et 7

SECTION 2: VENDOR COMPONENT EXPLANATION

VENA REIAY ..ot ettt e et e et e e e rae e sebeeesnseeeennes 8
Sequence Relay Coil (RVCC Models Only) .......cccvveeiiieiiieeniieeiee e 9
COINMECRANISIN ...ttt ettt st ettt e e s eeas 9
VENA IMOTOTS ...ttt ettt ettt ettt et sat e et e et e beesateenbeeeeee 10
Refrigeration SYSIEIM ........vieiiiieeiiieciieectee ettt e e e et e e e tee e sereeeenseeeenns 10

SECTION 3: SET-UPAND INSTALLATION

INSEALIATION ..ot 13
Product SKIMMING .......ccocuiiiiiiieiiie et et e e e e enns 14
Adjustments (Cams and BackSPacers) .........ccceevuveeriieeriieeiiie e 14
Loading INSIIUCHIONS .......vvieeiiieciie ettt et e e e e re e et e e e ree e sreeeenseeeenns 15
Testing the VENAOT ........viiiiiiiciieeee e e et 15

SECTION 4: POINTS OF INTEREST

Vend Relay RECEPLACIE ......cc.vviiiiiieiiiccieee et 16
Coin Mechanism Receptacle .........cccuiveviiieiiiiiiiiiecie et 18
SOLA-OUt SWILCHES .....evvieiiiieiie ettt e e e e e e eraeesaeee e 19
Ballast and Counter POWEr SOCKELS ..........cccviieriiieiiieeiie et 20
(0 101N 0 o151 2110 s H PSSR 20

SECTIONS: VEND CYCLE

VENd SEQUEIICE .....oouvvieeiiiieciee ettt e et e e e e etbeeetaeeensaeesnsaeesnseeennnes 24
1) 6 K 1 LTSRS 26

SECTION 6: MAINTENANCE

Taking Care of YOUT VENAOT ........ccoouiiiiiiiiciiiecieecee et 27
B B0 10) 5] 1001 113 USSR 27



SECTION 7: EXPLODED VIEWS and PART NUMBERS

INNEr DOOT ASSEMDLY ......oooiieiiiieiiieie ettt et et e e 32
Main Door Hinge, Lifter, & T-Handle AsSembly ..........ccccoceeviienieniiienieiiecieeieeiee 34
Cabinet and Refrigeration SYStem ...........ccceevuieiiieiiienieeieeie ettt 36
Cabinet, VENd MECRANISIT ......cccciiiiiiiiiiiiiiiee ittt ettt e e e e e e sesaaate e e e e s e s esaans 38
POTtASSEIMDLY ....ooviiiiiiiiiieiie et ettt st enee 41
PC/CD Main Door, Front ASSEMDLY ..........cccoeeviiiiiiiiiieiiecieeiece e 42
PC/CD Main Door, Rear ASSEmDbIY ...........ccceeviiiiiiiiieiiecieeece e 44
PC/CD Select Panel (nOn-eleCtroniC) ............coceveeeeiiieiiieeiee e 46
RVCC Vandal Resistant DOOr TrM .........cccueeriiiiiieiiienieeiiecieece et 48
RVCC Vandal Resistant Door Rear ASsembly ...........c.ccoeveieiienieniiieieiieciieeieeieee 50
RVCC Vandal Resistant DOOL, FTONT .........ooviiiiiiiiiiiiiieeeeeeeeeeeteeee ettt 52
RVCC Vandal Resistant DOor, REAT ..........vvvviiiiiiiiiiiiiieieeeeeeeeeteeee et 54
RVDP Main Door Assembly, FIONt .........cccoeriiiiiiiiiieiiieiececeeee et 56
RVDP Main Door Assembly, REar ............ccoooiiiiiiiiiiiiieiiecieeieee e 58
RVDP Select Panel ASSEMDLY ........ccceeiiieiiieiieiiieiieeie et 60
SECTION 8: WIRING DIAGRAMS ... 62

931130 - 6-select Vendors (6 Wide Col. / 0 Narrow Col.)
931029 - 6-select Vendors (6 Wide Col. / 1 Narrow Col.)
931021 - 7-select Vendors (4 Wide Col. / 4 Narrow Col.)
931023 - 9-select Vendors (1 Wide Col. /9 Narrow Col.)
931033 - 5-select Vendors (5 Wide Col. / 0 Narrow Col.)
931119 - 6-select Vendors (6 Wide Col. / 0 Narrow Col.)
931034 - 6-select Vendors (3 Wide Col. / 3 Narrow Col.)
931097 - 7-select Vendors (6 Wide Col. / 1 Narrow Col.)
931022 - 8-select Vendors (4 Wide Col. / 4 Narrow Col.)
931024 - 10-select Vendors (1 Wide Col. /9 Narrow Col.)



Safety Segment

ROYALVENDORS’ COMMITMENT TO SAFETY

Royal Vendors is committed to safety with all of our product designs. We are committed to
notifying the user of a possible danger involving the improper handling or maintenance of our
venders. The servicing of any electrical or mechanical device involves potential dangers,
both to those servicing the equipment and to users of the equipment. These dangers can
occur because of improper maintenance or usage. The purpose of this safety segment is to
alert everyone servicing Royal equipment of potentially dangerous areas, and to provide
basic safety guidelines for proper upkeep.

The service manual contains various warnings that should be carefully read to minimize the
risk of personal injury. This manual also contains service information to insure that proper
methods are followed to avoid damaging the vender or making it unsafe. It is also important
to understand these warnings provide general guidance only. Royal could not possibly know,
evaluate, or advise of all of the conceivable ways in which service might be done. Conse-
quently, Royal cannot predict all of the possible dangerous results. These outlined safety
precautions are the basis for an effective safety program. Use these safety measures, along
with the service bulletins, helpful hints and product specification sheets, when installing or
servicing Royal equipment.

We recommend that persons servicing our equipment maintain a similar commitment to
safety. Only personnel properly trained should have access to the interior of the
vender. This will minimize the potential dangers that are inherent in electrical and mechani-
cal devices. Royal has no control over the vender once it leaves the premises. It is the
owner or lessor’s responsibility to maintain the vender in a safe condition. See installation
insert located in the coin box of a new vender for proper installation procedures and refer to
the service manual for recommended maintenance procedures. If you have any questions,
please contact the Technical Services Department at 1.800.931.9214.

SAFETY REGULATIONS

Read the safety segment before installation or service.

Test for proper grounding before installing to reduce the risk of electrical shock and fire.
Turn off or disconnect power cord from wall outlet before servicing.

Only fully trained service technicians should service vender when vender has power.
Remove any product before moving a vender.

Use appropriate equipment when moving a vender.

Always wear eye protection, and protect your hands, face, and body when working near the
refrigeration system.

Use only authorized replacement parts.
Be aware of inherent dangers in rocking or tipping a vender.




SECTION I: ELECTRICAL HAZARDS GENERALADVICE

Careless or improper handling of electrical circuits can result in injury or death. Anyone installing,
repairing, loading, opening, or otherwise servicing a vender should be aware of this precaution. Apply
all of the normal precautions when handling electrical circuits, such as:

Refrigeration servicing to be performed by qualified personnel only.

Unplug the vender before servicing.
Replace electrical cords if there is any evidence of fraying or other damage.
Keep all protective covers and ground wires in place.

Plug equipment into outlets that are properly grounded and polarized (where applicable), and
protected with fuses or circuit breakers of the correct size.

All electrical connections must be dry and free of moisture before applying power.

WARNING:
ALWAYS TEST TO VERIFY PROPER GROUNDING PRIOR TO INSTALLATION IN ORDERTO
REDUCE THE RISK OF ELECTRICALSHOCK AND FIRE.

SECTIONII: ELECTRICAL HAZARDS

A. Servicing with Power Off

For maximum safety, unplug the power cord from the wall outlet before opening the vender door. This
will remove power from the equipment and avoid electrical hazards. Service personnel should remain
aware of possible hazards from hot components although electrical power is off.

B. Servicing with Power On

Some service situations may require access with power on. Only fully qualified service technicians
should perform power-on servicing. Particular caution is required in servicing assemblies that combine
electrical power and mechanical movement. Sudden movement (to escape mechanical action) can result
in contact with live circuits and vice versa. It is therefore important to maintain maximum clearances
from both moving parts and live circuits when servicing.

WARNINGS:

1. ONLY FULLY TRAINED PERSONNELSHOULD ACCOMPLISH “POWER-ON” SERVICING
SUCH SERVICE BY UNQUALIFIED INDIVIDUALS CAN BE DANGEROUS.

2. LIGHTING CIRCUITS CAN BE HAZARDOUS. ALWAY S DISCONNECT FROM POWER SUPPLY
BEFORE REPLACING ABULB OR SERVICING THE VENDER IN THAT AREA.

3. NEVER USE AHOSE, PRESSURE WASHER OR ANY CLEANING METHOD THAT COULD WET
ELECTRICAL COMPONENTS. SEE CLEANING SECTION OF MANUAL FOR SUGGESTED CLEAN-
ING METHODS. IF WATER CONTAMINATION OF ELECTRICAL COMPONENTS IS SUSPECTED,
USE QUALIFIED ELECTRICAL TESTING EQUIPMENTAND TEST METHODS TO ASSURE THAT
VENDER ISNOTAHAZARD BEFORE APPLYING POWER FOR ANY REASON.




SECTION 1

GENERAL INFORMATION

Introduction

Thank you for the purchase of your “new” Royal “ELECTRO-MECHANICAL” can /
bottle vendor. We are sure you will be pleased with it, as it is one of the most reliable vendors
in the marketplace today.

This manual contains installation, operation and service information for your Royal can /
bottle “electro-mechanical” vendor. To become familiar with your “new” vendor it is
suggested that this manual be read in it’s entirety.

At ROYAL VENDORS, our objective is not only to provide you with a strong, reliable
vendor, using only the highest quality, environmentally safe materials, but is also to provide
you with first class service in a timely and cost-effective manner.

Vendor Identification

Unit Markings - Your vendor can be identified by the serial plate which is mounted on the
outer left side of the vendors main door (fig.1a). The serial plate gives valuable information
which is necessary when ordering parts or calling for technical service.

r A
[move | RvVCD 376-8

%uaiwsln: SERIAL NUMBER AMPS R12 OZ.
L

0001-1194AE [ 12 |55

KEARNEYSVILLE, W.V. 25430
TEST PRESSURES 300HS/150LS 115V /60HZ/ 1PH
S R LISTED REFRIGERATED VENDING MACHINE 66E9
\ SUITABLE FOR QUTDOOR USE P
~ . v et eeeo. "._--‘“---..------‘_----“--.u’::““‘ M

Figure 1a

B ot

Common Models:

RVCD = ROYAL VENDORS COLD DRINK (ALL GENERIC MODELS)
RVCC = ROYAL VENDORS COCA-COLA

RVMC = ROYAL VENDORS MAGNUM CURVE (PEPSI-COLA)
RVDP = ROYAL VENDORS DR. PEPPER

Model Numbers: (example)
376-8 = Your vendor will hold a maximum of three hundred and seventy six
12 oz. cans (In the vending mechanism), and has eight selections.

Serial Numbers:

The vendor’s serial is very important when service or parts order information is requested.
There are currently two styles of serial numbers in use, use the illustrations on the following
page to find the style of serial number that matches yours.




0ld Style:

[0001] —11194A LFi‘
\ YEAR OF PRODUCTION
VENDOR ID.# EXAMPLE : A=1988
RUN

B=1989
PRODUCTION
NUMBER
QUARTER OF PRODUCTION YEAR
EXAMPLE : A=JAN., FEB., MAR.
B=APR., MAY, JUN,
OR
_I:If,_w Style:
1232|B||F —|0366T
K VENDOR ID.#
YEAR OF PRODUCTION
PRODUCTION RUN S AMPLE  Ac1988
NUMBER B=1989

QUARTER OF PRODUCTION YEAR
EXAMPLE : A=JAN,, FEB., MAR.
B=APR., MAY, JUN.

Refrigeration:

Your vendor’s refrigeration system can be identified by noting the refrigeration serial plate
which is mounted to the base plate of your refrigeration system (fig.1b). This also gives
information which is necessary when ordering a replacement refrigeration unit, or when
calling for service help concerning one.

(
a, rMODEL l 3000
'%urms ln: SCRIALNUMBER AMPS 12 OZ.

1391A1-0340 [12 |5.5

KEARNEYSVILLE, W.V. 25430
TEST PRESSURES 300HS/150LS 115V/60HZ/ 1PH

..................................................................................

P’lrgure 1b




Woarranty

* The vend motors are warranted for five years and three months. The refrigeration system
consisting of the fan motors, compressor, evaporator, clean-flo condenser and the refrigerant
tubing is warranted for five years and three months. All other parts are warranted for one year
and three months with the exception of light bulbs and finish.

* Royal Vendors’ obligation under warranty is limited to repairing or replacing subject part at
our option, when upon examination it was determined by Royal Vendors to be defective.
Royal Vendors will pay shipping charges on all parts covered under this warranty when
transportation has been made the most economical way

* The warranty is void when a cabinet or any part has been subject to misuse, alteration
without proper authorization, accident, or damage caused by fire, flood, transportation, civil
disorder, or act of God.

Credit and Replacement Policy

Any item still under warranty will be replaced or exchanged free of charge if the proper

procedure is followed:

1. Returning item for exchange: On a packing slip give complete name and address and
a reason for returning, along with a cabinet serial number.

2. Replacement items can be ordered in advance and sent back to us after the new part
is received. If so, once new part is received, return old part with copy of packing slip
and we will give credit for part and shipping.

3. We will only credit for shipping in the most economical way. We will not credit any
next day or second day shipment.

notes:




SECTION 2

VENDOR COMPONENT EXPLANATION

Vend Relay (see figure 2a)

The vend relay is an electrical component which is composed of a coil and three switches.
When the customer inserts enough money to establish a credit the vend relay’s coil is
energized (by the coin mechanism), it pulls in, this action simultaneously pulls each of the
three switches contacts from the normally closed (N.C.) position to the normally open (N.O.)
position.

The vend relay is approximately located in the middle of the vendor’s main door and is
plugged into the “vend relay receptacle”.(For more information please reference section 4
“points of interest, vend relay receptacle”)

L ALY colL ey
I
——— _—— COMMON mm
= == |
=, = |uam
g;MTCH ﬁ:\’NITCH §¥VlTCH
VEND RELAY SOCKET VEND RELAY

Figure 2a
The VEND RELAY controls the following functions: (see Figure 2b)
* Helps to allow the coin mechanism to accept coins in attempt to establish a credit.
* Directly discontinues further coin acceptance once a credit is established.
* Energizes select panel through the bottom select switch upon establishing a credit.
* Removes power from the select panel when credit is canceled.

AND BE HELD, THEN AT THE END OF THE VEND CYCLE POWER

HAS TO BE HOT (115VAC) TO ENABLE THE RELAY TO ENERGIZE
lr IS INTERRUPTED... DROPPING THE RELAY (CREDIT)

FROM PIN #2 OF CHANGER SOCKET FROM PIN #3 OF CHANGER SOCKET
CONSTANT NEUTRAL | oo l MOMENTARILY HOT (115VAC) TO ENERGIZE
R COIL (UPON REACHING VEND PRICE)
FROM PIN #7 OF CHANGER SOCKET | __HOLDS COIL IN ONCE ENERGIZED BY
PIN #3 OF CHANGER SOCKET

ALTERNATES POWER WITH PIN #3

[T|FROM CREM CIRCUIT (SEE NOTE)

HAS TO BE HOT TO ENABLE ACCEPTANCE
HOT WHEN THERE IS PRODUCT IN VENDOR

TO PIN #6 OF THE CHANGER SOCKET
BEFORE / AFTER CREDIT: ENABLES COIN MECH.
ACCEPTANCE
CREDIT ESTABLISHED: DISABLES COIN MECH.
ACCEPTANCE

TO COMMON OF BOTTOM SELECT

SWITCH (THIS WIRE ENERGIZES THE
SELECT PANEL

NOTE : THE CREM CIRCUIT IS A LINE OF POWER THAT TRAVELS INTO THE VENDOR, THROUGH
THE VEND/BYPASS SWITCHES OF EACH VEND MOTOR, THEN THROUGH EACH FRONT
SOLD-OUT SWITCH (TO DETERMINE IF AT LEAST ONE COLUMN HAS PRODUCT IN IT), FROM
THE LAST FRONT SOLD OUT SWITCH THE POWER THEN CIRCULATES TO THE COMMON

POSITION OF SWITCH #3 OF THE VEND RELAY (SHOWN).

Figure 2b




Sequence Relay Coil (RVCC models only)

The sequence relay coil is located in the upper left section of the vendor’s main door and is
responsible for controlling product delivery out of columns 1 and 2. When the select panel is
energized during credit setup, the power will travel out of the top select switch and to the
sequence relay coil to energize it. At this stage you will hear it pulse.

There is a miniature switch that is connected to the sequence relay coil. As the coil energized
each time a credit is established it toggles the switch. When selection #1 is chosen the power
will travel from the select switch to the sequence relay switch at the common position.
Depending on which position the switch is in will influence which column is vend from. If a
vend is made from column #1 the next credit that is established will sequence the switch so
that if selection #1 is chosen the vend will come from column #2.

Coin Mechanism

The coin mechanism determines the value and validity of each coin that is inserted into the
vendor. Once the vend price is achieved, the coin mechanism sends an instantaneous pulse of
115 volts through pin #3 of the coin mechanisms’ receptacle to energize the vend relay’s
“coil” (Refer to “Vend Relay” earlier in this section.). Once the vend relays’ coil is
energized, the coin mechanisms job is then to power the select panel through pin #7 of the
coin mechanism receptacle and initiate coin return.

note: Once the vend relay is energized (vend price is achieved), power is removed from pin
#6 of the coin mechanism socket which kills further coin acceptance

Exact Change Condition:

If correct change cannot be made, the coin mechanism will power the correct change
indicator lamp through pins #5 (neutral) and #6 (115 volts constant with product in at least
{1] column).

Vend Counter Option:
Your Electro-Mechanical vendor comes equipped with a 2- way mate-n-lok socket to be used
to power an optional vend counter. The socket is pre wired to the coin mechanism

The following coin mechanisms can be used in your Royal Electro-Mechanical vendor (This
list can be found inside the vendor’s main door).:

THE FOLLOWING IS A LIST OF COIN MECHANISM MANUFACTURERS
AND MODEL NUMBERS OF COIN MECHANISMS INTENDED FOR USE
WITH THIS VENDOR. THE VENDOR IS NOT TO BE OPERATED
WITHOUT ONE OF THESE COIN MECHANISMS.

COIN ACCEPTORS, INC. MODELS §75 WITH/WITHOUT E FOLLOWED
BY 9800A, 9800B, 9800C, 9800D, WITH/WITHOUT ADDITIONAL
SUFFIXES. MODELS 875 WITHWITHOUT E FOLLOWED BY 9400A,
9400B, 9400C, WITH/WITHOUT ADDITIONAL SUFFIXES. MODELS
CC300EB200, 9300CC

MARS ELECTRONICS MODELS SP400, SP450, MC5000, MC5800,
MC5800D, MC5800D8, TRC6000.

NATIONAL VENDORS MODELS 550, 585, 5250, 5251, 500, 510,

510E, 525B, 525C, 525E, 3000.
ROYAL VENDORS, INC.




Vend Motors

Your “electro-mechanical” vendor is equipped with a vend motor for each column. There
are two types of vend motors that may be used in your vendor, these vend motors are not
interchangeable.

Wide Column:

A “Wide Column” vend motor assembly can be identified by the linkage arm assembly
which is mounted to the rear of the vend motor. The linkage arm is used to drive the vend
mechanism’s oscillator (1 per wide column) in a “back and forth” motion to deliver
product.

note: The vend timing cam for a wide column motor is set differently than a timing cam for a
narrow column motor. (For more information please reference section 3 “set-up and
installation, Adjustments, Cams and Backspacers.”)

Narrow Column:

A narrow column vend motor has a wider motor coil than a wide column vend motor. This is
because the motor and rotor must lift the complete column of cans upon re-loading, this
requires a stronger vend motor. This motor can be identified by the pin on the rear of the
vend motor that drives the vend mechanisms rotor in a “circular” motion to deliver product.

note: The vend timing cam for a narrow column motor is set differently than a timing cam
for a wide column motor. (For more information please reference section 3 “Set-Up and
Installation, Adjustments, Cams and Backspacers”)

Refrigeration System

Compressor:

The compressor motor is a hermetically sealed unit located beneath (outside) the cooling
compartment. The compressor is a pump, driven by the compressor motor which draws low
pressure vapor (refrigerant) from the evaporator coil, compresses it, and forces it into the
condenser under high pressure. The motor is started and controlled by the temperature
control.

Starting Relay: '

The starting relay is mounted on the side of the compressor housing. The compressor motor
has two windings, a start and a run winding. To give the motor torque when it first starts, the
starting relay switches in the additional start winding. After the motor gets up to speed the
relay opens the start winding and the motor continues using only the run winding.

Thermal Overload:

The thermal overload is a heat sensitive device mounted on the side of the compressor
housing. If the compressor motor gets too hot or draws an excessive amount of current, the
thermal overload will open, breaking both the start and run circuits of the motor. After the
compressor cools to a safe operating temperature, the thermal overload will close allowing the
compressor and condenser fan motors to restart.

Condenser:

The condenser coil is located beneath (outside) the cooling compartment next to the
compressor. The condenser removes heat from the high pressure vapor discharged from the
compressor and condenses it to a high pressure liquid

Condenser Fan Motor:

The condenser fan motor, located beneath the cooling department, is a forced air device that
uses outside ambient air to cool the surface of the condenser coil. The condenser fan motor
runs while the compressor runs.

10



Evaporator:

The evaporator coil is located in the cooling compartment. As low pressure liquid passes
through the evaporator coil, it absorbs and removes heat from the compartment as it changes
to vapor.

Evaporator Fan Motor:

The evaporator fan motor is a forced air device that circulates air throughout the cooling
compartment and over the heat exchange surface of the evaporator coil. The evaporator fan
motor runs continually.

The condenser and evaporator coils have aluminum fins attached to effectively increase their
heat exchange surfaces.

Capillary Tube:

The capillary tube is located in the refrigerant line, between the condenser and evaporator
coils. The small diameter tube is used as a metering device to control the flow of liquid
refrigerant to the evaporator coil. This creates a low pressure causing the refrigerant to
vaporize and absorb heat as it passes through the evaporator.

Drier:

The drier is located in the refrigerant line between the capillary tube and condenser. It traps
and removes moisture from the refrigeration system while allowing oil and refrigerant to pass
through the system.

Accumulator:

The accumulator is located in the refrigerant line between the evaporator coil and
compressor. The accumulator traps any liquid refrigerant which did not vaporize before it
reaches the compressor.

Temperature Control:

The adjustable temperature control is responsible for sensing temperature changes in the
cooling compartment and starting the compressor motor when the compartment temperature
rises above a preset setting.

The temperature control is composed of a control switch that is actuated (opened and closed)
by the mechanical movement of a bellows. The bellows is connected to a temperature sensing
bulb (located in the cooling compartment) by a small diameter refrigerant tube. The bellows,
temperature sensing bulb, and refrigerant tube are filled with refrigerant that react to
temperature changes.

When the temperature of the cooling compartment rises, the refrigerant in the sensing bulb
expands forcing the bellows to close the temperature control switch. The temperature control
switch turns the compressor and condenser motors ON. As the refrigeration cycle cools the
compartment, the refrigerant in the sensing bulb contracts allowing the bellows to relax,
actuating the temperature control switch to its open position, turning the compressor and
condenser motors OFF.

Cooling Compartment:
The cooling compartment is the sealed area of the vendor that holds the product for delivery.
This area is designed to allow free flowing air to circulate throughout the product.

The Refrigeration Cycle:

The rising temperature in the cooling compartment heats and expands the refrigerant in the
temperature control bulb, expanding the bellows. The expansion of the bellows closes the
temperature control switch.

The temperature control switch turns the compressor and condenser fan motor ON.

11



The compressor circulates refrigerant throughout the system by pulling low pressure
refrigerant vapor from the evaporator coil, compressing it and forcing it into the condenser
coil.

The condenser aided by the condenser fan motor, removes heat from the refrigerant as it
flows through the condenser coil and releases it to the outside environment. The dropping of
the refrigerant temperature changes the vapor to liquid.

The capillary tube controls the amount of refrigerant released to the evaporator coil.

The evaporator coil allows the liquid refrigerant to absorb heat from the cooling
compartment as it evaporates in the coil.

The falling temperature in the cooling compartment is caused by the continual circulation of
refrigerant through the system, removing heat from the cooling compartment and
transporting it to the outside environment. When the temperature drops, the refrigerant in the
temperature control bulb contracts allowing the bellows to open the temperature control
switch.

The temperature control switch turns the compressor and condenser fan motors OFF.

notes:

12



SECTION 3

SET-UP AND INSTALLATION

Installation

Unpack The Vendor: .
Unwrap the vendor and remove padding. Check for any signs of damage. If the vendor is
damaged, contact the carrier immediately. They will instruct you as to the procedure for
filing a claim.

note: The vendor keys are located in the coin return cup.

Removing the shipping skids:

Separate (split) each section of the skid by inserting either a claw hammer, crow-bar, or
similar device into the slot of each section to break apart. Tilt the vendor slightly to remove
the separated pieces. See figure 3a.

Figure 3a

Placing the Vendor on Location:
When placing the vendor on location allow for a minimum of four inches (4”) of space to
rear of vendor. This will Insure proper ventilation of the refrigeration system. See figure 3b.

Level the Vendor:

Level the vendor by adjusting the four leveling legs on the bottom corners of the vendor.
The vendor is level if the door remains stationary when opened to different positions. The
four leveling screws must be in contact with the floor. See figure 3b.

Figure 3b

Voltage Requirements:

The vendor 1s designed to operate at a voltage of 115 volts, 60 Hertz. It requires a minimum
of 15 amp service. The service outlet voltage must not exceed 129 VAC or fall below 103
VAC.

Vendor Power Cord:
The vendor has a three wire grounding cord. The vendor must be plugged into a grounded
electrical outlet to protect the customer from an electrical shock.

nete: Extension cords are not recommended unless they are authorized prior to use by a
certified electrician,

13



If you are not sure your outlet is properly grounded, have it checked by a
qualified electrician.

When you plug in the vendor, you should observe the Following:
1. The florescent lights displaying the vendor will come on.

2. The compressor will begin to run.

3. The “use correct change” on the front of the vendor will light.

Product Shimming:

Your vendor is set from the factory to vend 12 oz. cans and / or 10 oz. P.L.B. bottles without
the use of shims. For the vending of other size packages (product diameter), please contact
your local Royal Vendors distributor.

Adjustments (Cams and Backspacers)

Cams:

Your electro-mechanical vendor distributes product through the use of a vend timing cam on
each individual vend motor (1 per column). Most vendors that come new from the factory
are set to vend double depth 120z. cans. It is necessary to add filler notches (supplied with
cam) when vending single depth packages from wide or narrow columns (fig.3c). To revue
the operation of the vend timing cam please refer to section 4 Points of Interest, Cam
Operation”.

NARROW COLUMN SET FOR
VENDING SINGLE (1) DEPTH

WIDE COLUMN SET FOR
VENDING SINGLE (1) DEPTH

WIDE COLUMN SET FOR
NARROW GOLUMN SET FOR
R TR, VENDING DOUBLE (2) DEPTH

fig. 3c
Backspacers:
Listed in this section are the factory standard backspacer settings for double depth vending of
12 oz. cans and 10 oz. P.L.B.‘s. For the vending of other size packages (product length),
different adjustments may be necessary. For this information please contact your local Royal
Vendors distributor.

Package Vending Bepth Position (From Front)
12 OZ. CAN 2 8
10 OZ. P.L.B. 2 12

14



Loading Instructions:

Listed in this section are loading instructions for 12 oz. cans and 10 oz. P.L.B.s for loading
in wide and narrow columns. After loading a vendor for the first time, test vend each selection
with money until the first can is delivered for each column. This will ensure proper vending.

note: Placing cans in front of the evaporator will restrict air flow and possibly hinder cooler
performance.

WARNING: Placing cans in front of the condenser will restrict air flow and cause
unnecessary compressor wear.

Wide Column Loading:

For loading a wide column for the maximum capacity position the oscillator to the extreme
right or left. Load the first row of packages on the bottom bar of the oscillator. The second
row of packages must be loaded on the top bar of the oscillator in a “zigzag” fashion
starting from the bottom of the column and working toward the top.

note: Load bottles with the caps to the rear.

Incorrect Loading - If the initial row of packages is placed on the bottom bar of the oscillator
then a row directly loaded on top of these, the oscillator could rotate over upon vending and
create a jam. Do not stand product up vertically or jams will occur.

Narrow Column Loading:

Position the rotor in the “cup” position facing upward to receive the first row of product.
Load the remainder of product on top of the initial row. Do not stand product up vertically or
jams will occur.

note: Load bottles with the caps to the rear.

Testing the Vendor

Once the vendor is properly loaded it is suggested to test vend each column using a variety of
coins (and bills if a bill validator is in use) to ensure the vendor is working properly.

notes:

15



SECTION 4

- POINTS OF INTEREST

Vend Relay Receptacle

The 11-way vend relay receptacle is located in the changer plug / vend relay bracket. This is
one of the most important circuits in the whole machine. The major connections of the vend
relay receptacle are as follows:

1. Allows Acceptance:

The “crems circuit” is the circuit that allows the vendor to accept coins or bills. Acceptance
will be allowed when the vend relay provides 110 VAC to pin #6 of the coin mechanism
receptacle. Pin #6 will only have power when at least one column’s sold out lever is pressed

The circuit starts as the front sold out switch for each column receives 110 VAC to the
common position. If a column has enough product to depress the sold out paddle the voltage
will travel through the switch and come out of the normally closed position. This voltage will
be used to power the coin mechanism receptacle at pin #6. Voltage coming out of the
normally closed position of any front sold out switch will travel to switch #1 at the common
position of the vend relay’s receptacle. A wire connects the normally closed position of this
same switch to pin #6 of the coin mechanism receptacle.

Coin Mechanism

Receptacle Vend Relay
- Receptacle
= — ]
=T=—=1=" =
=2 * — e

from normally closed
position of vend switch
of #1 motor

2. Establishes Credit:

Neutral is constantly provided to one side of the vend relay’s coil. A wire connects pin #3 of
the coin mechanism receptacle to the “hot side” of the vend relay receptacle for the coil.
When enough money is inserted to establish a credit the coin mechanism will send a
momentary {10 VAC pulse through this wire to energize the vend relay’s coil.

Coin Mechanism

Receptacle Vend Relay
Receptacle
. = —
l =|
=TT = —
3 £ ey 23
[—J ] —V1—F| = g =
= — -

16



3. Hold Credit:

Credit is held by power that comes from the vend motor’s vend and bypass switches to the
vend relay. This is referred to as the vendor’s “holding circuit”. (For a detailed description
of how this circuit operates see section 4 Cam Operation.) Power will be supplied from the
vend motor of column #1 at the normally open position to the vend relay receptacle at the
common position of switch #3. A jumper wire is used to connect the normally open position
of switch #3 to the hot side of the coil. The voltage in these two sections will be used to
power the vend relay’s coil (hold coil in) once the momentary pulse described in stage #2 is

gone.
M | =
=
= = r
Vend Relay | &= 3
Receptadg = = = From vend / bypass
switches

4. Energize the Select Panel:

The coin mechanism’s pin #7 is responsible for energizing the select panel with 110 VAC to
start the vend cycle. A wire connects pin #7 of the coin mechanism receptacle to the
common position of switch #2 of the vend relay receptacle. This wire is hot before a credit is
established but due to the vend relay not being energized no power will be sent to the select
panel. This wire is also hot once the vend relay has been energized to power the common
position of switch #2 of the vend relay receptacle. A wire is connected between the normally
open position of switch #2 of the vend relay receptacle and the common position of the
bottom select switch. This wire takes power from the vend relay to the select panel starting at
the bottom switch. The power travels from the bottom switch and through each of the
switches above

note: For vendors with a sequence relay coil, the coil will be energized after power has
traveled through each select switch. You can determine this by hearing it click.

To Sequence Relay
Cail (if present)

Vend Relay
Coin Mechanism Receptacie
Receptacle s e
—
| e ] e [ s | e B — —
7
It 1 ==
| e B s [ e §
= L
st

17



5. Discontinue Coin Mechanism Acceptance (reference figure under Item 1):

Once enough money is inserted to establish a credit and the coin changer has energized the
vend relay’s coil the three switch contacts of the vend relay move from the normally closed
position to the normally open position. Switch #1 of the vend relay allows acceptance before
the vend relay’s coil is energized as mentioned previously in step #1. Once the relay is
energized (a credit is established) the contact of switch #1 is moved to the normally open
position and power is removed from pin #6 of the coin mechanism. This discontinues coin
acceptance by disabling the coin mechanism’s crems coil.

6. Cancel Credit (reference figure under Item 3)::

Mentioned previously in step #2, the “holding circuit” is responsible for keeping power to
the vend relay’s coil to hold credit. The wire connecting the normally open position of the
bypass switch of vend motor #1 to the common position of switch #3 of the vend relay
receptacle must be hot with 110 VAC for the relay to be held. The power is provided to this
wire comes from the extreme left vend motor and it must first “weave” it’s way through each
vend and bypass switch before reaching the common position of switch #3 of the vend
relay’s receptacle. By the rotation of the cam on the selected vend motor forces the vend and
bypass switches into various sequences. By doing this, during the beginning of the vend
cycle, power is momentarily interrupted and the vend relay’s coil is dropped. (for cause of
see section 4 “Cam Operation”).

Coin Mechanism Receptacle

The 8-way coin mechanism receptacle is located in the changer plug/vend relay bracket.
Like the vend relay receptacle this connection is important to the vendor’s operation. The
major connections of the vend relay receptacle are as follows:

Pin 1. Power to Coin Mechanism:

This pin provides 110 VAC to the coin mechanism, this pin should constantly be hot. The
wire that plugs into this connection comes from the bottom of the vendor’s main door at one
of the mate-n-lok connections. Tracing this wire further back, you will find that it connects
in with the door / stack power plug at the bottom of the vendor’s main door.

Pin 2. Neutral to Coin Mechanism:

This pin constantly provides neutral to the coin mechanism for general operation. Both pin 1
& 2 are needed for the coin mechanism to operate. Neutral is provided to pin #2 of the coin
mechanism receptacle from the neutral side of the vend relay’s receptacle. Shown in figure
4a from the bottom of the vendor’s door to the sequence relay coil (if one is present) then to
the neutral side of vend relay’s coil. From the vend relay’s coil, a jumper wire is connected
to pin #2 of the coin mechanism connection.

Sold Out Lamps

{shown are 8) Sequence Relay
el Coil
Coin Mechanism -
Receptacle \ ol
A —
I
1 = =
== =
[ f e = e | [— =]
I‘ == I o Y === |
Vend Relay
Receptacle
e R

18



Pin 3. Power to Establish Credit:

This pin, upon reaching the vend price, will momentarily pulse with 110 VAC to energize the
vend relay’s coil. This pin is not responsible for holding the vend relay’s coil but for initial
power to it. A wire directly connects this pin of the coin mechanism connection to the hot
side of the vend relay receptacle’s coil connection.

Pin 4. This pin is currently not used.

Pin 5. Neutral to Power Correct Change Lamp: o
This pin applies neutral to the correct change lamp when needed. A wire connects this pin
directly to the correct change lamp.

Pin 6. Receives 110 VAC for Coin Mechanism’s Crems Circuit:

This pin receives 110 VAC from the vendor’s crems circuit (refer to vend relay receptacle,
function 1 for a description and illustration). As long as this pin has power the coin
mechanism will accept coins or allow bills to be accepted. Power to this pin means two things,
a credit is not established and product is in at least one column.

Pin 7. Powers Select Panel after Credit via Vend Relay:

This pin powers the vend relay receptacle’s common position of switch #2 with 110 VAC
before and after a credit is set up. The only time that there is not power from this pin is when
pin 3 momentarily pulses to begin the credit sequence. After power is sent to the vend relay
from this pin it is the vend relays responsibility to power the select panel. (refer to vend relay
receptacle, function 4 for a description and illustration).

Pin 8. This pin is currently not used.

Sold-Out Switches

Your vendors sold-out switches are located directly above the vend motors and are easily
accessible by removing the sold-out switch cover. Upon doing this you will notice that there
are two sold-out switches per column. With most models these switches are fully compatible
with the vend motor switches and select switches.

The front sold out switch for each column can be identified by noting the white connectors.
The front sold-out switches mainly serve two purposes (see figure 4a):

1. Powers the coin mechanism’s crems circuit before a credit is established if at least one
column has enough product to depress the sold-out paddle. (see: Section 5 vend sequence).

2. Powers the sold-out lamp continuously for any selection that is sold out.

@ @ ®

CREMS CIRCUIT

REAR FRONT J REAR FRONT | I REAR FRONT-U
- -] = = 0 = 2 0 =
’f—- — '-- '--
AT R TR Bl BT B B
iigoole @ ou fu ©Q i o0 o Q
1y 1z z 1z 2 =z : z 4
HEH T, = L\ H y = = k-
H E 1, s, i £,
A / 7 .
»E
53
T o 5
ma ﬂ o H
a : !
& N |
w ' E Oa
2V 0% o2
-2 a2 LS

figure 4a

-
(o)



The rear sold-out switch for each column can be identified by noting the red connectors.
Upon selection, power from the selection switch must first travel through the rear sold-out
switch of the selected column before it reaches the vend motor coil (if product is in the
selected column). At the same time the sold-out lamp will be lit until credit is canceled. (see

figure 4b).
Q) @ ©)

REAR FRONT REAR FRONT REAR FRONT
. = o = = aQ = = o =
TR &l 8| .18 &l sl .18 & B
i i :
Plleedecliflocleoe] iflecleg
i N, i L N b
H L H H N
+ n
o«
b= =
' Q 5 § *
~ E 4
Y 3z |2 a¥ Y
IR A
<] &
B2 ¥5 o3
-

figure 4b

Ballast and Counter Power Sockets

The changer plug bracket houses two 2-way mate-n-lok sockets to provide power to the
ballast and to enable the use of a vend counter. The counter and the ballast power plugs
share neutral that is provided by a wire that is connected in pin #2 of the coin mechanism
receptacle. 110 VAC is provided to the ballast power plug from a wire that is connected in
pin #1 of the coin mechanism receptacle. 110 VAC is provided to the counter power plug
from a wire that is connected connected in pin #3 of the coin mechanism receptacle. This pin
pulses when the coin mechanism receptacle’s pin #3 pulses to energize the vend relay’s coil.

Cam Operation

The cams front profile (fig.4c) will reveal “high” and “low” sections of the cam. A side
profile will show that these “high” and “low” sections are staggered. These sections are
what determines vend motor running, stopping, credit holding and cancellation of credit.

NOTCH FILLER

HIGH CAM

LOW CAM

figure 4c

Cam Sequence:

Step #1

In a stand-by position (fig.4c), the front vend motor switch (vend switch) is in low cam, while
the rear vend motor switch (bypass) switch is on high cam. In this position, 115 volts travels
through each vend motors vend and bypass switches from left to right.

20



TO COM. POSITION OF RIGHT
VEND MOTOR VEND SWITCH
5
Z > >
5 A =l dc
= z '
% g E A s
PS) g% -l % c
o8 x N Foauy
a & [®] nc
GYE VEND SWITCH
e (v.s.) BYPASS SWITCH
2u & (B.S.)
o>

CAM NOTCHES & SWITCH ACTUATORS .

figure 4d

A. Power exits the normally open position of the extreme right vend motors rear bypass _
switch and travels to the common position of the vend relays’ switch #3. This enables a credit
to be held upon reaching vend price, which is commonly known as the holding circuit.

B. Power simultaneously exits the normally closed position of the vend motors front “vend”
switch and travels to the common position of the extreme right front sold-out switch to start
the vendors crems circuit. (For more information please reference Section 5: vend cycle -
“vend sequence”.)

Step #2

Upon selection (fig. 4e), power is supplied from the normally open position of the chosen
select switch, through the rear sold-out switch, to the vend motor coil. As the vend motor starts
to run it simultaneously rotates the vend timing cam (attached to the vend motor shaft)
clockwise.

T N~ T TO COM. POSITION OF RIGHT
VEND MOTOR VEND SWITCH

.

CAM ROTATION >

VEND SWITCH

(v.S.) BYPASS SWITCH
(B.S.)

FROM N.C. POSITION
OF LEFT VEND MOTOR

VEND SWITCH

CAM NOTCHES & SWITCH ACTUATORS

figure 4e

As the cam begins it’s clockwise rotation the stationary mounted rear “bypass” switch will
drop into “low” cam (At this point both switches will be in low cam.). The bypass switch

21



dropping into low cam with the vend switch presently there is the first step in canceling
credit. At this point, the bypass switch no longer bypasses that motors vend switch circuit
which will allow the holding circuit to be dropped when the vend switch rides onto high
cam.

Each vend motors front “vend” switch, in this position, is responsible for providing power to
the next consecutive vend motor switches to the right. If the column would jam at this point,
credit is not yet canceled so the customer would be allowed a second choice.

note: With the bypass (rear) switch in “low” cam, the vend switch takes all responsibility for
carrying power to the vend/bypass switches to the right.

Step #3

(fig. 4f) As the cam continues to rotate clockwise, the vend switch will ride onto *“high”
cam. Due to the staggered cam, the bypass switch will be left in “low” cam. At this point
two things will happen:

A. As the vend switch rides onto “high” cam it will take over, powering the vend motor,
from the normally open position, throughout the rest of the vend cycle (until it drops into
the next “low” cam).

B. As the vend switch rides onto high cam it breaks the holding circuit (common position
of switch #3) canceling credit.

W

TO VEND {
MOTOR

CAM ROTATION >

VEND SWITCH

(vV.S.) BYPASS SWITCH
(B.S.)

FROM N.C. POSITION
OF LEFT VEND MOTOR

VEND SWITCH

CAM NOTCHES & SWITCH ACTUATORS

figure 4f

note: “B” will only occur if the vend motors bypass switch is in “low” cam when the vend
switch rides onto high cam. If the bypass switch is “stuck-in” and doesn’t drop into low
cam, the vendor will hold credit in possibly two different ways:

A. Credit will be held for that same selection until zhat bypass switch’s actuator “pops-out”

B. Credit will be held for one vend from any different selection which is attempted (assuming
that the bypass switch for this selection isn’t sticking). The vend/bypass switches from the
different selection will cancel the credit.

Step #4

(fig. 4g) As the cam continues it’s clockwise rotation the bypass switch will ride onto high
cam. At this point both switches will be on high cam. The vend switch in this position
continues to power the vend motor until it drops into low cam ending the cycle. The bypass
switch in this position is responsible for providing power to the vend/bypass switches to the
right so that in case of a jam all other columns would be operable.

22



CAM ROTATION >

TO COM. POSITION OF BIGHT
VEND MOTOR VEND SWITCH

A

CAM NOTCHES & SWITCH ACTUATORS

notes:

figure 4g

TO VEND - >
MOTOR
{ -l % c
< “hc

Z .9 A
Y R T
925 —1 e
SIE VEND SWITCH
ZL o (V.S.) BYPASS SWITCH
T (B.S.)

23



SECTION 5

VEND CYCLE

Vend Sequence

Power flow at Standby:
With the vendor in a “stand-by mode” (fig. 5a) power enters at the bottom of the vendor’s
main door through the stack plug (L1= 115 volts, L2= neutral). From the stack plug the

power travels into the vendors main door and cabinet.

\\\\\\\\\\

anaaaaa s WO

R
B8
i
g_ﬁﬁ BE
V4
]
)

PRt ———

-
NC
: =
N e |
5 N <
miED SBR
2 2 g ot N N e
F{ B S . 3 é W 3
g ———2 1 et N S [
§ 4 31T 3 1y =
‘3 NEE T
8 7 3 3
 J N 3 =
. ‘ N N NC
§ } N N ?oj
X v‘—-— N :
= \
________ 4 N & N
pm——— SR
] 1 2 R
\ s
R I H’ \ : :
N N
SELECT N N
SWITCHES N
N N
e p
N N
N N
N N
~ A
N 3
N S
3 N VEND
- o) VEND
bl > SOLD OUT MOTORS SWITCHES
=2 SWITCHES BYPASS
{ SWITCHES
1
1 o o ey o
crems cfrcu'!t = AN } i KEY
holding circuit = el STACK PLUG " NE(UTRAL: ——
JOT (115V.)= e

gl

figure 5a

As voltage enters the vendors main door from the stack plug, it travels through the fifteen way
mate ‘n’ lock plug at the bottom of the door to PIN #1 of the coin mechanism receptacle (to
power the coin changer). In some cases a wire is also connected in PIN #1 of the coin
mechanism receptacle to provide the ballast with 115 volts.

As voltage enters the cabinet from the stack plug it travels to the common position of the
extreme left vend motors front (vend) switch. A “jumper” wire is used from this position to
provide power to the rear (bypass) switches common position. The rear (bypass) switch
provides a circuit around the vend switch in case a jam would occur while the vend switch is
on high cam. The power, upon reaching the extreme right vend/bypass switches serves two
very important purposes:
1. The voltage travels from the normally closed (n.c.) position of the “front” (vend) switch
(extreme left vend motor) to the common (com.) position of each “front” sold-out switch,
from this point one of two things will occur.
A. The front soid-out switch of any columns containing product will route the
voltage out the normally closed position and through a single wire to the common
(com.) position of switch #1 of the vend relay. This is known as the vendors crems

24



circuit. Until the vend relay is energized (a credit established) this circuit, in
conjunction with switch #1 of the vend relay, will provide 115 volts to the coin
mechanism’s crems coil enabling acceptance.

B. The front sold-out switch of any empty column will route the voltage from the
normally open (n.0.) position to the individual sold-out lamp (one per selection) to
continuously indicate a column sell-out.

2. The voltage travels from the normally open (n.0.) position of the extreme right vend
motors “rear” (bypass) switch directly to the common (com) position of the vend relays
switch #3. This is known as the vendors holding circuit, it holds the vend relays “coil” in
upon establishing a credit (with aid from the jumper wire). Credit is canceled by removing
power to the “holding circuit” which releases the vend relays “coil” (Reference Section 3
Adjustments, Cams and Backspacers).

Vendor Stand-By:
Before a credit is established pins 1 and 3 are the main pins to observe. In this position, switch
#2 does not serve a purpose.

Switch #1...
This switch is responsible for providing power to energize the coin mechanisms crems
coil to enable acceptance (when product is in at least one column).

Switch #2...
This switch serves no purpose in this position.

Switch #3...
This switch is responsible for powering the common position to provide a holding
circuit.

Establishing Credit:

Upon reaching the vend price (establishing a credit), the coin mechanism will send an
instantaneous pulse of 115 volts through PIN #3 of the coin mechanism receptacle to
energize the vend relays “coil”. THIS PULSE IS ONLY MOMENTARY. Once a credit is
established by “pulling in” (energizing), the vend relay controls the following:

Switch #1...
This switch discontinues coin acceptance by removing power from pin #6 of the coin
mechanism receptacle.

Switch #2...
This switch energizes the select panel by powering the bottom select switch.

Switch #3...
This switch is responsible for holding credit.

After a Credit, Before a Selection:

As the vend relay’s normally open position of switch #2 sends 115 volts to the common
position of the extreme bottom select switch. The voltage will travel out the normally closed
position of the extreme bottom select switch and to the common position of the upper next
select switch. This “chain” of power will continue until it reaches the #1 (top) selection
switch, at this point one of two things will take place:

A. On RVCC model vendors the power flow will continue out of the #1 selections
normally closed position to the sequence relay coil. This energizes the coil every
time a credit is established and de-energizes it when a selection is made. If the #1
selection is chosen, power will travel to columns #1 or #2 alternately.

B. On all other model vendors the power will stop at the top selection switch

25



Credit Cancellation and Product Delivery:

As the selection switch powers the vend motor, rotating the vend timing cam clockwise, the
vend motors rear bypass switch will drop into “low” cam with the front vend switch. This is
the first step to canceling credit.

As the cam continues to rotate clockwise the vend motor’s vend switch will ride onto “high”
cam while leaving the bypass switch in “low” cam. This cancels credit, discontinuing power
to the select panel. The vend switch will also take over, powering the vend motor until it drops
into the next low cam. During this time product will be delivered.

Sold Out

A sold-out condition occurs when a column sells down, leaving a row of product in pre-cool.
As the product vends below the sold-out paddie, the paddle will extend into the column
engaging the two sold-out switches. The front sold-out switch (white connector) in a sold-out
condition will continuously light the sold-out indicator lamp for that selection. It will also
discontinue it’s contribution to powering the vendors “crems circuit”. (If all columns are
sold-out, power will be removed from the vend relay’s switch #1 common position disabling
the coin mechanism’s crems coil.) The rear sold-out switch (red connector) in a sold-out
condition will not allow power to reach the vend motor coil from the select panel.

note: The rear sold-out switch has a jumper wire that connects to the normally open position
of the front sold-out switch to light the sold -out lamp upon selection until credit is canceled.

notes:

26



SECTION 6

MAINTENANCE

Taking Care of Your Vendor

Unpack the Vendor:

Unwrap the vendor and remove any padding. Check for signs of damage at the time of
delivery. If the vendor is damaged, contact the carrier immediately. The carrier will instruct
you as to the procedure for filing a claim.

Note: The vendor keys are located in the coin return cup.
Note: Remove stretch-wrap if storing the vendor in direct sunlight.

Removing the Shipping Skids:

Separate (split) each skid section by inserting either a claw hammer, crow-bar, or similar
device into the slot of each section to break apart. Tilt the vendor slightly to remove the
separated pieces.

Placing the Vendor on Location:
When placing the vendor on location, allow for a minimum of four inches (4") of space at the
rear of the vendor. This will ensure proper ventilation of the refrigeration system.

Level the Vendor:

Level the vendor by adjusting the four leveling legs on the bottom corners of the vendor. The
vendor is level if the main door remains stationary when opened to different positions. The
four leveling legs must be in contact with the floor. This is imperative for proper drainage of
evaporator frost.

Voltage Requirements:

The vendor is designed to operate at a voltage of 115 volts, 60 hertz. It requires a minimum
of 15 amp service. The service outlet voltage must not exceed 129 VAC or fall below 103
VAC.

Vendor Power Cord:

The vendor has a 3-prong, three-wire grounding cord. The vendor must be plugged into a
grounded electrical outlet to protect the customer from an electric shock. If you are not sure
your outlet is properly grounded, have it checked by a qualified electrician.

Note: Extension cords are not recommended unless they are authorized before use by a
certified electrician.

When you plug in your vendor, you should observe the following:
1. The fluorescent lights displaying the vendor sign will come on.
2. The refrigeration compressor will start to run.

27



Troubleshooting

PROBLEM: Not accepting coins.
PROBABLE CAUSE: (Assuming the coin mechanism and vend relay are not at fault)
* No power to vendor.
*  Columns are empty of product, crems circuit is dead (all sold-out lamps will be
lit).
* Crems circuit is inoperative at some point.

No Power to Vendor:

1. Check to ensure that the vendor is plugged in.

2. Make sure that the coin mechanism receptacle has power. Pin 1 should be hot with 110
VAC and pin 2 should be neutral.

Columns are Empty of Product: (All sold-out lamps will be lit)
1. Check to ensure that at least one column has enough product to depress the sold-out
paddle to allow power to reach the coin mechanism’s crems coil.

Crems Circuit is Inoperative at Some Point:
1. Follow the directional flow of electrical current to ensure that pin #6 of the coin mecha-
nism receptacle is receiving 110 VAC (see below).

A. Starting at the extreme left vend motor and working to the right, press each individual
vend motor’s front vend switch, rotating the vend timing cam through one vend cycle
for each vend motor. If a vend motor doesn’t cycle, the problem is either in the
wiring between the problem vend motor and the vend motor to the left, -or- the vend
and/or bypass switches of the non-cycling vend motor. If all vend motors cycle
correctly then move on to step B.

B. Starting at the extreme left vend motor and working to the right, with each column
full of product (all sold-out paddles depressed), press each individual column’s front
sold-out switch (white connector) to vend from each column. This will show that
power has reached each front sold-out switch at the common position.

Note: On all RVCC model vendors, columns 1 and 2 will not vend when using the
front sold-out switches due to the wiring for sequencing.

Note: In order to enable coin mechanism acceptance, the extreme right column’s
front sold-out switch must send 115 volts from the normally closed (NC) position to
the vend relay’s common (COM) position of switch #1.

C. Check for loose connections or cut wires beneath the coin mechanism receptacle
and vend relay receptacle.

PROBLEM: Accepts coins but will not vend from one column.
PROBABLE CAUSE:

*  Faulty wiring (a cut or disconnected wire)

* Select switch

*  Vend relay

*  Coin mechanism

28



Faulty Wiring:

1. Check to ensure that a wire connects pin #7 of the coin mechanism receptacle to the
common position of the vend relay receptacle (switch #2), and is not cut or hasn’t
disconnected.

2. Check to ensure that a wire connects the normally open (NO) position of the vend relay
receptacle (switch #2) to the common (COM) position of the extreme bottom select
switch, and isn’t cut or has not disconnected.

3. Check the select switch wiring from the normally closed (NC) position to the common
(COM) position of the next upper select switch for cuts or incomplete connections.

Select Switch:
1. Ifthe 110 volts has reached the common (COM) position of the bottom select switch but
still no vend is allowed, replace the bottom select switch.

Vend Relay:

1. In order to power the select panel, the vend relay must disperse 110 volts out the nor-
mally open (NO) position of switch #2. If no voltage is registered at this position, check
the common (COM) position of switch #2 (from the coin mechanism). If still no voltage
is registered, change vend relay.

Coin Mechanism:

1. To energize the select panel upon credit, the coin mechanism must first send 110 volts of
electricity through pin #7 of the coin mechanism receptacle to the vend relay receptacle
(common position of the switch #2). If upon crediting pin #7 of the coin mechanism
receptacle does not register 110 volts, replace the coin mechanism.

PROBLEM: Accepts coins but will not vend from one or more columns.
PROBABLE CAUSE:

*  Faulty wiring (a cut or disconnected wire)

* Defective select switch

Faulty Wiring:

1. If aselection can not be made from the extreme top select switch, or from any middle
select switch with all the select switches above inoperable, check the wire coming from
the normally closed (NC) position of the extreme top operable select switch for cuts or a
disconnection.

Defective Select Switch:
1. If all connections are correctly made and a cut can not be found, then replace the lowest
inoperable selection switch.

29



PROBLEM: Multiple vends upon selection.
PROBABLE CAUSE:

*  Vend motor / cam setting

*  Vend motor’s front (vend) switch

Vend Motor / Cam Setting:

1. A multiple vend upon selection may be from either the vend timing cam having too many
notches filled (refer to Section 3, “Adjustments - Cams and Backspacers”) or from
defective or out-of-adjustment vend motor components.

*  Vend motor’s brake pawl is sticking from product syrup. (Try cleaning.)
*  Brake pawl spring is bent out of shape
*  Vend motor’s brake clutch projections may be broken.

Vend Motor’s Front (Vend) Switch:
1. A multiple vend may also be due to a sticking or broken vend switch. Replace defective
switches.
PROBLEM: Double vend, then dry vend.
PROBABLE CAUSE:
*  Vend motor / cam setting
* Bent rotor (narrow column) or oscillator (wide column)

Vend Motor / Cam Setting:

1. A multiple vend upon selection may be from either the vend timing cam having too many
notches filled (refer to Section 3 - “Adjustments - Cams and Backspacers™) or from
defective or out-of-adjustment vend motor components.

Bent Rotor or Oscillator:
1. Remove the rotor or oscillator and check each for any sign of twisting (rotor) or a
bowing arm (oscillator).

PROBLEM: Establish a credit and a selection is made on its own (pre-select).
PROBABLE CAUSE:

*  Miswired select switch

*  Sticking select switch

Miswired Select Switch:

1. Ifthe normally closed (NC) position and the normally open (NO) position of the same
selection switch are reversed, a pre-selection will occur upon crediting every time. This
is not likely to be seen on a vendor that has been working fine.

Sticking Select Switch:
1. A sticking select button / switch will cause a pre-select. Change select switch.

30



SECTION7

EXPLODED VIEWS and PART NUMBERS

31



Inner Door Assembly

&W Hnéul.

L

32



Inner Door Assembly

ITEM NO. DESCRIPTION PART NO.
1 Inner Door Assembly, 72" ... 011620
Inner Door Assembly, 79" ... 010620
2 Inner Door Gasket, 72" Wide ..........cooveveeiiiviiiiiieeeieee, 815032
Inner Door Gasket, 79" ..., 815033
3 Port Door Frame ..o 815013
4 PO DOOK ... 815014
5 Port DOOr RO ... 811004
6 Elastic Stop NUt #6-32 ... 905006
7 Latch Strike (for inner door) ..........cccceeeieeiiiniiiiiiieeeees 812003
8 Bushing, 1.37" ... e 916003
9 Cable Clamp, 1" . 916004
10 Rivet, 3/16" diameter...........coueiiiiiiiiieeiiee e 908002
11 Inner Door Bushing ............oooviiiiiiiiiiiieeeeeee s 815026
12 INNEr DOOr HINGE ...cooviiiieee e 010520
13 NUL, #8-32 .. 905001
14 Self-drilling Screw, #8-18 x 1/2" ... 010543
15 Bottom Door HINGe ... 010543
16 BOlt, 1/4-20 X 1" oo 901003

33



Main Door Hinge, Lifter,
& T-Handle Assembly

34



ITEM NO.

0O ~NO O, WN -

NNDNDNMNMDDNMNDNMNN-AA A A AaAAaAaaao
O PP WOWN-~OCOONOOOPWN—=O

27
28

NOTE #1:

Main Door Hinge, Lifter,
& T-Handle Assembly

DESCRIPTION PART NO.
Top Hinge Assembly ..........cccccviuniiiiiiiiiiiiiiiiieeeeeeee 810002
Bearing, Nyliner 1/2" ..., 916012

NUL, 5/8" ..o 905007
Self-tapping Bolt, 1/4-20 X 1" ..oovvviiiiiii 901003
Carriage Bolt, 1/4-20 X 1" ..eereeeeeeeeeeeeeeeee 901008

NUL, 1/4-20 oo 905002

Flat Washer, 7/8" OD .........cooiiiiiiiiiiiiiee e 904002
Bottom Hinge Assembly ...............ooooi i, 010040

Top HINGE SPACET ...t 010016

Door Roller Spacer (as required) ...........coooeeeiieeeicccnnnnes 010015

Door Roller Bracket ..........c..oeevviiiiiiiiiieeee e, SEE NOTE #2
DOOr ROIIEN ... SEE NOTE #2
Door ROIEr Pin ... SEE NOTE #2
Retaining Ring, 5/32" ..., 906005

K Y e SEE NOTE #1
LOCK et SEE NOTE #1
T-Handle Body (all except Vandal Res. Door) ................ 812134

Pin, T-HaNAIE ..o 912133
T-Handle Stud ... 803006

T o] (1o [ PP SEE NOTE #2
Retainer RiNg ..., SEE NOTE #2
NUt Retainer ..., 010028

Latch StriKe ... 010027
Square Nut, 1/2-13 X 3/4" ... 905005

Latch Strike Assembly ..., 010030
T-Handle ASSemMDbIY ........ccccccvviiriniiiiiiiiiiiieeeeeeeeeeeee e 812001
T-Handle Assembly (all Vandal Resistant Doors)........... 812176

Door Lifter Assembly ..., 815030
LeVeliNgLeg ..ccoooi i 803002

There are various parts. Please specify model and serial number at

the time of order.

NOTE #2:
bly.

This part is not available individually. It must be ordered as an assem-

35



Cabinet and Refrigeration System

36



Cabinet and Refrigeration System

ITEM NO. DESCRIPTION PART NO.

1 Foamed Cabinet Assy., 72" Wide 2-deep” ........ccccceeeeeeiiiiennnn. 011220
Foamed Cabinet Assy., 72" Wide 3-deep™ ......ccccceveeeiiiiiinnnnn. 058220
Foamed Cabinet Assy., 79" Wide 2-deep™ .......cccceveeeiiiiiinnnne. 010230

2 Evaporator Fan Shroud Assembly ..........cccccoviiiiieiiiiiiiiiennen, 010010

3 Evaporator COVEY ........oooieee et 010013

4 Grommet - Evap. Fan Motor (not Shown) ............cccceveiiiinneen. 916006

5 Fan Blade, Evaporator ...........ccccoooiiiiiiiiiiiiiiccceee e, 810004

6 Fan Motor, Evaporator ............ccccoeeiiiiiiiiiiiiiiciee e, 839001

7 EvaporatorFanPlate ... 010058

8 Fan Motor Bracket, Evaporator ...........cccccciiieeiiiiii, 010006

9 Self-tapping Bolt, 1/4-20 X 1" ......erriiiee e 901003

10 L o 1o TR 906007

1 Self-drilling Screw, #8 X 1/2" ... 902004

12 Fan Motor, CONAENSET ..........eeeieiieeeeeeeee e 839010

13 FanBlade, CONAENSEN ..........ooeeeeeieeeeeeeeeeeeeee e 810003

14 Fan Motor Bracket, Condenser ............cccooevvvieeeiiiiiieeeeeiii, 810006

15 L©70] 0 o] (=TS ) LRSS SEE NOTE #1

16 1/3+ H.P. Refrigeration System w/Capacitor ..............ccccceeeee 156430
1/3 H.P. Refrigeration System w/Capacitor ............ccccccccvnern.n. 141420

17 Screw, #8-32 X 3/8" ..o 901011

18 Main Wiring Harness, Electro-Mechanical .............................. 842005

19 Condensate Pan ... 810005

20 SPONGE .ttt 815037

21 Wiring CoverPlate .........ccvveeiiiiiii e 010002

22 GrommeEt PIUG ......ooiiiiiiiiiie e 815017

23 (070 ] 0010 (=17<To ] o O ITo L 914002

24 Relay 1/3 Tecumseh (not ShOWN) .........eeviiiiiiiiiiiiiiiiieeeen 822002
Relay 1/3+ Tecumseh (Not ShOwn) .........ooviiiiiiiiiiiiiiiiieeeee 822009

25 Overload 1/3 Tecumseh (Not ShowWN) ............coiiiiiiiiieiinien. 822004
Overload 1/3+ Tecumseh (N0t Shown) .........ccooviiiiiiiieniiiiiieen. 822010

26 RS 11=T  o T R 939037

27 Screw, #8-32 X 1/2" ..o 901038

28 Well Nut (Rubber), #8-32 ........coooiiieeeeeee e 905026

29 NUL, 1/4-20%% ..ot eree e 905002

30 Mounting Bracket, Evaporator FanPlate ................................. 010057

* Denotes that a color must be specified.

** Denotes that Loc-Tite threadlocker #262 is used on motor shaft before mount-

ing this nut.

NOTE #1: This part is not available individually. 1t must be ordered as an assembly.

37



Cabinet, Vend Mechanism (non-electronic)

with Wide Column Vend

Front Mechanism Plate -
Motor and Linkage




Cabinet, Vend Mechanism (non-electronic)

ITEM NO.

1

A WN

_ 2O 0O~NO O,

- O

12
13
14
15
16
17
18
19
20
21
22

23

24

25
26
27
28
29
30
31

32

DESCRIPTION PART NO.
Foamed Cabinet Assembly, 72" Wide 2-deep ........c.ccoeeuuvveeeen. 011220
Foamed Cabinet Assembly, 72" Wide 3-deep ........c.ccoeeuvvveeeen. 058220
Foamed Cabinet Assembly, 79" Wide 2-deep ........c.ccoeeuvvveeeeen. 010230

Vend Mechanism Assembly ... SEE NOTE #1
Hem Channel Cap .......ooooiiiieeeeeee e 815024

Left Cabinet Vandal Panel, 79" (1302 & after)” .........c.cceeeee 141002

Left Cabinet Vandal Panel, 72" (1302 & after)” ..........ccceeeee 142001

Left Cabinet Vandal Panel, 79" (before 1302) .........ccccoovuvvieeen. 010022

Left Cabinet Vandal Panel, 72" (before 1302) .........ccccovvuvveeeen. 011001
Backspacer Assembly, Narrow Column ...........cccccceeiiiiiiiennenn. SEE NOTE #1
Backspacer Assembly, Wide Column ............occcvieeiiiiiiiiennenn. SEE NOTE #1
Spring, BaCKSPaCer .......oooiiiiiiiiiiiei e 914001

LatCh, Gate ... 010725
Mechanism Gate Weld Assembly ...........cccccoviiiiiiiiiiiiiiiennen. SEE NOTE #1
HINge, Gate ..o 010726
Mechanism Support, 2-d€epP .....cccccuurimiiiiiiiiiiiieeeeee e 010005
Thermostat Bracket / Mechanism Support, 2-deep .................. 010020
Mechanism Support, 3-d€epP ....ccccocuuiiiiiiiiiieieieeeeeee e 058001
Thermostat Bracket / Mechanism Support, 3-deep .................. 058010

POp RIVEL, 1/8" ... 908001
CanChute Bracket .........ccuuieiiiiii e 010018

Can Chute Tie Bracket .........cooooiiiiiiiiiiiiiee e 010017
Washer, Nylon 1/2" ID .......ueeeeeeeeeeee e 904001
Linkage Arm (Wide Column Motoronly) .........ccccceeveiiiiinennenn. 809005
NYINEL, 3/8™ ..o 916011

Rotor Retainer (Narrow Column only) .........ccccooiiiiieiiiiiniiinennen. 815012
Screw, #8-32 X 3/8" ..o 901011
Journal Plate (Wide Column only) ........ooccvieviiiiiiiieneeiien, 010708
NYINEL, /2" e 916010

Rotor, 2-deep (Narrow Column only) .........cccooviiiieiiiniiiiieeeeenn. 809002

Rotor, 3-deep (Narrow Column only) .........ccccooviiiiieiiiniiiiieeneenn. 809007
Oscillator, 2-deep (Wide Column only) .......ccceevvviiiieneeiinnnee, 809003
Oscillator, 3-deep (Wide Column only) .........ceeevvniiiiieneeiininne. 809008

Vend Motor Assy. (Wide Col.) - Regular 2-deep ...........cceeee 010720

Vend Motor Assy. (Wide Col.) - Regular 3-deep ...........cccceeennee 059760

Vend Motor Assy. (Narrow Col.) - Regular 2-deep .................... 010730

Vend Motor Assy. (Narrow Col.) - Regular 3-deep .................... 059770
Self-tapping Screw with Star Washer ... 901006
Self-tapping Screw, 1/4-20 X 1" ... 901003
Screw, #4 X 1 1/8" ... 902003
Cabinet Harness (N0t Shown) ..........cooiiiiiiiieiiiiiee e, SEE NOTE #1
Miniature SWItCh ........ccuviiiii 835001
Switch Insulator / Spacer ..o 815016
SOIA-0UE BAr .....coiiiiiiie e SEE NOTE #1
S0ld-OUt SPIING ... 914003




Cabinet, Vend Mechanism (non-electronic) - continued

33 Sold-out Paddle, Wide Column .........cccocociiieieiiiiiiienee e 010729
Sold-out Paddle, Narrow Column ............ccccveeeeniiiiineee e, 010731
34 Motor Cover, Wide Cabinet ............ccccooiiiiiiiiiiiece e, 010029
Motor Cover, Narrow Cabinet ............cccccceieiiiiiiieeee e, 036003
35 Wide Can Chute Assembly, 2-deep ............ccoeeevrrriiirireeennen. 010070
36 Can Chute Liner, Wide .......cccccooiiiiiiieeiiiieee e 010021
37 HemAngle - Left - 2-deep, 79" ..., 010717
HemAngle - Left - 2-deep, 72" ..., 011708
Hem Angle - Left - 3-deep, 79" ... 058711
HemAngle - Left - 3-deep, 72" ... 059707
38 Hem Channel - 2-deep, 79" .......ovreeiiiiiiiiiieeieeeeeee e, 010715
Hem Channel - 2-deep, 72" ........oveeeeiiiieiiieiieeeeeee e, 011711
Hem Channel - 3-deep, 79" ..., 058709
Hem Channel - 3-deep, 72" ........uvveieiiiiiiiiieieeeeeee e, 059706
39 Hem Angle - Right - 2-deep, 79" ....ooverriieiiiie, 010716
Hem Angle - Right - 2-deep, 72" ..o, 011709
Hem Angle - Right - 3-deep, 79" ..o, 058712
Hem Angle - Right - 3-deep, 72" ..o, 059708
40 Self-tapping Screw, 1/4-20 X 1" ..., 901003
. Rear Can Retainer (N0t ShOwN) .........cvvviiiiiiiiiiiiiiiiieeeeeeeeeeee, 810007
. Wire Tie, 4" (not shown - holds S.O. Harness) ....................... 916007
. Wire Tie, Large (ot Shown)..........cooooeiiiiiiiiicieeeee 916008
* Denotes that a color must be specified.
NOTE #1: There are various parts. Please specify model and serial number at the time
of order.

40



Port Assembly

ITEM NO. DESCRIPTION PART NO.

1 L07= 0 111 (o] o J R 010508

2 oo B I o SRR 815019

3 1T o [P UPR SEE NOTE #1

4 o] G o= Lo Y R 815020

5 Port Body W/A, COKE ....uuviiieiiiiiiiie et eeee e 010530
Port Body W/A, Pepsi/ Cold Drink .........ccccveeiiiiiiiiiiiiiee 012560

6 Anti-Theft Plate (all except 16 0z. & CDC Vendors) ................ 010509
Anti-Theft Plate (BotHes) ... 141102

7 BOIt 1/4-20 X 1/2" .. 901007

8 NUE 1/4-20 ...t eeree e 905002

NOTE #1: There are various parts, please specify model and serial number at the time of

order.

41



Pepsi / Cold Drink Main Door,
Front Assembly

NaavS
/7

42



Pepsi / Cold Drink Main Door,
Front Assembly

ITEM NO. DESCRIPTION PART NO.
1 Door Weld Assembly, 79" (Pepsi)* .......ccccouiivreeeeeinnnnns 012520
Door Weld Assembly, 79" (Cold Drink)*..........cccccevinnins 020510
Door Weld Assembly, 72" (Pepsi)* .......ccoooviirreeeeeinnns 013510
Door Weld Assembly, 72" (Cold Drink)*..........ccccccoennnns 019510
2 SIGN e SEE NOTE #1
3 Right Vandal Panel, 79" ... 010519
Right Vandal Panel, 72" ... 011501
4 Rain Guard, Wide Vendors ........ccoooeeieiviiiiiiieieeeeeeeeee 010518
5 Top DOOr HINGE ... 810002
6 Carriage Bolt, 1/4-20 X 1/2" ..ooveee . 901007
7 Self-drilling Screw, #8-18 X 1/2" ..., 902004
8 T-screw, #8-32 X 3/4" ... 901001
9 Top Door Bushing ..........ceevviiiiiiie e 803003
10 Left Side Trim, 79" (PepSi) ...cevveviiniiiiiieiieieeiiieeeeeeeee 141553
Left Side Trim, 72" (PepPSi) ...ccvveeviniiiiiiiieeiiiiiieeeeeeees 142502
Left Side Trim, 79" (Cold Drink) .........ccoeeiiiiiiiiiiieeeeis 032505
Left Side Trim, 72" (Cold Drink) ........ccceeeiiiiiiiiiiieeeis 019507
11 Top Trim, 79" & 72" (PepSi) ....uuvveeeeeiiiiiiiiiieeeee e 012533
Top Trim, 79" & 72" (Cold Drink) .......ccooviimiiiiieeeiiiee 032504
12 Bottom Trim, 79" & 72" (Pepsi) ......cccvvvreeeeiiiiiiiiieeeeees 012533
Bottom Trim, 79" & 72" (Cold Drink) ...........ccoovveeeiinnnnns 032507
13 Right Side Trim, 79" (Pepsi) ......cccovvmrieieiiiiiieeeee s 012554
Right Side Trim, 72" (Pepsi) ......cccouvereeeeiiiiiiieeeee s 013507
Right Side Trim, 79" (Cold Drink) .........cccccoiviiiiiiiieeeennns 032506
Right Side Trim, 72" (Cold Drink) .........ccccooviiiiiiiieeennnns 019508
14 Pop Rivet, Stainless Steel, 1/8" diameter....................... 908001

Denotes that a color must be specified.

NOTE #1: There are various part numbers. Please specify model and serial
number at the time of order.

43



Pepsi / Cold Drink Main Door, Rear Assembly

44



Pepsi / Cold Drink Main Door, Rear Assembly

ITEM NO. DESCRIPTION PART NO.
1 Door Weld Assembly, 79" (Pepsi)* .......ccooeeeiieiiiiiicccns 012520
Door Weld Assembly, 79" (Cold Drink)*............cccceennnnnne. 020510
Door Weld Assembly, 72" (Pepsi)* ........coooeeiieiiiieicccnns 013510
Door Weld Assembly, 72" (Cold Drink)*............cccceennnnnnee 019510
2 Port Body W/A, PC / CD (Wide Round) .......cccceevvivviennnes 012560
3 Lamp Guard, Wide ........cooovviiiiiiiii, 012514
Lamp Guard, Narrow .......cccccccevveeiiiiiiiiiieeeeeeeeeeeeeeeeeee, 040501
4 Port Brace, WIde .......oooeeeeeeeeeeeeeeeeeee e 010515
5 72" Slimline Lamp (for 79" vender) .....cccccccovvvvviiiiiieenn. 841005
64" Slimline Lamp (for 72" vender) .....ccccccccvvvviiieiineenl. 841006
6 Coin BOX HOUSING ..ovvviiiiiiiiieieeeieeeeeeeeeeee, 010537
7 Coin Box Welded Assembly .........cccccvvvvviiiiiiiiiiii. 010580
8 COINHOPPET ...ttt 815015
9 Changer DOOF .........uviiiiiiiieieeeeeeeeeeeeeee e 010544
Changer Door Assembly ........cooovvvviiiiiiiiiiiii, 011580
10 Ballast Assembly, 79" (with Lampholders & Wire)........... 012591
Ballast Assembly, 72" (with Lampholders & Wire)........... 013920
11 Lamp Bracket ........oooovvviiiiiiii, 010517
12 Top Lampholder ..........ccccvviiiiiiiiiiiiieeeeeeeeeeeee e, 842003
13 Bottom Lampholder ... 842004
14 Changer Door Hinge, TOP ..ccovvvvieiiiiiiiiiiiiiieeeeeeeeeeeeeeeee, 010525
15 Changer Door Hinge, Bottom ..., 010524
16 Bottom Hinge, Inner Door Hinge Assembly ...................... 010550
17 Latch Roller Bracket ... 010516
18 Latch Strike (for Inner DOOr) .......oovvvvvieiiiiiiii, 812003
19 SCrew, 1/4-20 X 1" o 901003
20 Self-drilling Screw, #8-18 X 1/2" .....cvvveiiiieeeee e 902004
21 Carriage Bolt, 1/4-20 X 1/2" .oooveeeeeeeeeeeeeeieee 901007
22 NUL, 1/4-20 ..ot 905002
23 SCrew, #8-32 X 3/8" ...oe e 901011
24 Pop RIVEL, 1/8" ...t 908004
25 Bottom Coin Chute Assy., PC / CD (to Coin Box)............ 012593
26 Hopper Chute Assembly (to Coin Cup) .....cccccceuurerrrnninnnns 012538
27 Tie RO, DOOT ... oot 811001
28 Elastic Stop Nut, #8-32 .......cciiieiee e 905004
* Denotes that a color must be specified.

45



Pepsi / Cold Drink Select Panel

46



Pepsi / Cold Drink Select Panel

ITEM NO. DESCRIPTION PART NO.

1 Door Weld Assembly, 79" (Pepsi)* .....covvvviiiiiieeeeeieiieiieeceeeins 012520
Door Weld Assembly, 79" (Cold Drink)* ........ooooeeeeiiiiiiiiiiinis 020510
Door Weld Assembly, 72" (Pepsi)* .....ccvvvveiiiiieeeeeieeieeieeeeeeias 013510
Door Weld Assembly, 72" (Cold Drink)* .......coooeeeeeiiiiiiiiiiiinns 019510

2 Control Panel Weld Assembly, 10-select® .........ccccccevveeveeeeeennn. 017530
Control Panel Weld Assembly, 8-select ..........coovvveveeiinieenn, 012510
Control Panel Weld Assembly, 7-select ..........ooevveeveeiinnennn, 034520
Control Panel Weld Assembly, 6-select ...........ooeevevevieinennenn, 040530

3 Validator COVET .........ueeiiiiei it e e 012508

4 Panel Strap (optional) .........ccccvviiiiiiiiiiiiiieeeeeeeeeeeee e, 010531

5 Relay Bracket (houses Changer & Relay Recept.) .........c.......... 010522

6 T-Handle ASSEMDIY ......oovvviiiieieeeeeee e 812001

7 T-Handle Body (all except Vandal Resistant Door) .................... 812134

8 SPIING ettt a e e e e e e SEENOTE #2

9 Pin, T-HaNIE .....ooooiiiiieee e 912133

10 RetainerRIiNG ......coooii e SEE NOTE #2

1 T-Handle Stud ..........oooiiiii e 803006

12 COININSEIT ..o 809006

13 CorrectChange Lamp .........coooiiiiiiiicieeeeeee e 841010

14 T-SCrew, 8-32 X 3/4" ... 901001

15 COINCIULE ... 815001

16 Self-tapping Screw, #6-32 X 1/4" ..o, 901004

17 CoINChULE COVET ..o 815002

18 SPHNG PIAte ..o 010511

19 CoiNREtUMN SPriNg ....ccceeeeieieeeeeee e 914003

20 Scavenger Link (Coin Return Lever) ...........eeevvviviiiiiiieeeeiiie, 810001

21 Coin Return Cup (old style, Lexan) .......cccccevveeeiiiiieieeeeieeiieeee, 815003
Coin Cup Weld Assembly (new style, steel) ......ccccccceeeeeeennn. 012595

2 Button Assembly (button front shown)..................ccoo i, 815025

23 Button Assembly (button rear shown) ................ccooeviiiiiiicnnnns 815025

24 SoId OUELAMP oo 841009

25 Screw, #4-40 X 1" s 901005

26 Spring Shield .........cooeiiii e 815164

27 SWILCh, Large ...cooeiieieee e 835012

28 SWItCh SPACET ..ooeviiiiiiiiiiee e 815018

29 NUE H-40 .. 905003

30 Self-tapping Screw, #8-32 X 1/2" ..., 901002

31 NUE, H#8-32 .t 905001

32 DOOrHAMESS ....cooiiiiiiiiee e SEE NOTE #1

* Denotes that a color must be specified.

NOTE #1: There are various parts. Please specify model and serial number at the time of

order.

NOTE #2: This part is not available individually. It must be ordered as an assembly.

47



Vandal Resistant Door Trim

48



ITEM NO.

AP WN =

_ 2 OO0 NO®

- O

13
14

15
16
17
18
19

20
21

NOTE #1:

Vandal Resistant Door Trim

DESCRIPTION

Top DOOr HINGE ...
Top Door Bushing ..........ceeveiiiiiiece e
T-SCrew, #8-32 ...
Top Trim, Coke, 72" & 79" Wide.......cccovrvriiiiieeeieeeeeeee,
Left Trim, Coke, 79" ...
Left Trim, Coke, 72" ...
Right Insert Trim, Coke, 72" & 79" Wide ............ccceeuneee.
o] o S I T ¢
Bottom Trim, Coke, 72" & 79" Wide ........ccevvvveriineiennnn.
Bottom Insert Trim, Coke, 72" & 79" Wide .....................
Right Side Bottom Trim, Coke, 72" & 79" Wide .............
Rain Guard, Wide Vendor ..........ccooooeiiiviiiiiieiieeeee e,
Rain Guard, Narrow Vendor ...........ccoovevveviieeeieieieev e,
Pop Rivet, 1/8" ...
NUL, 1/4-20 ..
Right Vandal Panel, 79™ ...
Right Vandal Panel, 72" ...
Carriage Bolt, 1/4-20 X 1/2" ..oovoeei
Top Insert Trim, Coke, 72" & 79" Wide .......cccceeeeeerirnnnnnn,
Right Side Top Trim, Coke, 79" ...
Right Side Top Trim, Coke, 72" ........coooiiiiiiieieeeee
Door Weld Assembly, Coke, 79" ...
Door Weld Assembly, Coke, 72" Wide ...........cccceennneees
SHON et
NUL, 8-32 e
Self-drilling Screw, #8 X 1/2" ..o

Denotes that a color must be specified.

PART NO.

810002
803003
901001
141552
141553
142502
141556
815019
141552
141558
141555
010518
036503
908001
905002
010519
011501
901007
141557
141554
142503
141510
142510
SEE NOTE #1
905001
902004

There are various parts. Please specify model and serial number at
the time of order.

49



Vandal Resistant Door Rear Assembly

50



Vandal Resistant Door Rear Assembly

ITEM NO. DESCRIPTION PART NO.
1 Main Door Welded Assembly, 79" Wide..........ccccceeeeeenne 141510
Main Door Welded Assembly, 72" Wide...........cccccceeeeennnne 142510
2 Lamp Guard, Wide Vendors ..........cccccccceeeeiieieiiiieiiiiinn, 012514
Lamp Guard, Narrow Vendors .........cccceeeeeeeeiieieiiiiieeeennn. 040501
3 Screw, #8-32 X 3/8" ... 901011
4 Changer DOOT .........uuiiiiiiiiiie e 010544
5 Changer Door HINge, TOP ..uvviiiiiiiiiiiieieeeeeeeeeeee e 010525
6 POp RIVEL, 1/8" ... 908004
7 Changer Door Hinge, Bottom............cccciiiieeiiiiiiiiiieeeee, 010524
8 Bottom Coin Chute Assembly (to Coin BOX) ..........cccce.e. 012593
9 (7011 i (o o o= TR 815015
10 Coin Box Welded ASsembly ..........ccccveeeiiiiiiiiiiiiiiieeeee 010580
11 CoiN BOX HOUSING ....ovviiiiiiiiiiiiieeec e 010537
12 Carriage Bolt, 1/4-20 X 1/2" ..ooeeeeee 901007
13 Lamp, High Output for 79" Vendors ..................ccceeeee. 841001
Lamp, High Output for 72" Vendors ...............ccccceeeee. 841002
14 TIE RO <. 811001
15 Keps Nut, 1/4-20 ......oooiiiiiiiiiiiie e 905002
16 Ballast Assembly, 79" Wide Vendors ...............cccoeeeeee. 010950
Ballast Assembly, 72" Wide Vendors ...............ccceeeeeen. 011930
17 Self-drilling Screw, #8-32 ..o 902004
18 Elastic Stop NUt ... 905004
19 Lamp Bracket ... 010517
20 Top Lampholder (Spring-loaded) ...........oocccviieeeeeiiiiiinnee. 842001
21 Latch Roller Bracket ..., 010516
22 Burst Open Latch Strike ... 812003
23 Bottom Lampholder ... 842002
24 Bottom Inner Door HINGE .......coooviiiiiiiiiiiiiiieeeeeeee 010550
25 Self-tapping Screw, 1/4-20 X 1" .o, 901003
26 Port Brace, Wide VENdOrS .........coooviiiiiiiiiieiiieeeeeeeeeee 010515
Port Brace, Narrow Vendors .........ocevvveeeiiviiieieeeeveeee, 036502

51



Vandal Resistant Door, Front

&00000&00 *
\ @ \\ N
by o- /

/\00 coococooo/

52



ITEM NO.

Vandal Resistant Door, Front

DESCRIPTION

Door Welded Assembly, Coke, 79" ...........oooiiiiiiiiiciin,
Door Welded Assembly, Coke, 72" ...........ccooviiiiiiicinn,
Control Panel, Coke, 6-selecCt .........oooumeveeeeiiiieiiiee
Control Panel, Coke, 7-selecCt ........coooueeeeeiiieieee
Control Panel, Coke, 9-selecCt ........coooemeveeeiieeeiee
Security Plate Welded Assembly ..........cccccovvvveieeel.
Validator Cover, COKE ...
Security Plate Decal, Non-electronic ..............................
T-Bolt, 1/4-20 X 1" oeeiee e
Bushing, Button Coin Return .........................,
Hex Jam Nut, 9/16-18 UNF2A .........oiiieeieeeeeeee
SCrew, #8-32 X B/8" ...
CoiNPlate, COKE ...
Keps Nut, 1/4-20 ......oovveiiiiiiiiiiiiiieieeeeeee
HOId DOWNANGIE ...
Decal, Select BUtON ........coovveeeeeeeeeeee e
Coin Cup Mounting Plate Welded Assembly ....................
Carriage Bolt, 1/4-20 X 1/2" ..ooveeeeeeeeeeeeee
Correct Change Lamp ......oeeveevveeiiiiiiiiiiiiiiieieeeee,

PART NO.

141510
142510
145510
141502
143510
141550
010535
845397
901037
803030
905019
901011
141516
905002
123505
845383
123550
901007
841010

53



Vandal Resistant Door, Rear

N, M > p
N N
AW *x=+® "\
X . N

w® O

o .AY@Q@@@@QQW OAM@ A/ (2)

/,
oY J "
2 LY \6’ ‘\\ ~
Y vy\ N o/l\.@\ N\ /
I / g
, /
\/° R AN ‘
WA, . @\/////7///////// Xw . /

54



Vandal Resistant Door, Rear

ITEM NO. DESCRIPTION PART NO.
1 Door Welded Assembly, Coke, 79" .........cccociiiinnnnnnns 141510
Door Welded Assembly, Coke, 72" .........ccccceiennnnnnns 142510
2 Flush Mount “Pop-Out” T-Handle Assembly ................... 812176
3 Flush Mount T-Handle Body .........ccoovvviiiiiiiiiiieeeeeeeeeee N/A
4 o] (1 o [ PPPPPPPP N/A
5 T-Handle Stud ..........cooovvuiiiiii e N/A
6 Retaining RiNG ..o, N/A
7 Pin/T-Handle Stud ...........cooeiiiiiiiiiee e, N/A
8 Sold QUL SPriNG ...vvviiiiiiiieeeeeeeeeee e, 914003
9 Button, Coin Return LeVEr ........ooveeeieieeeeeeeeeeeeeee 803031
10 Retaining RiNng, 5/32..........ccccci e, 906005
11 Roller Pin, Door Lifter........ooeue e, 811002
12 Hinge, Coin Return Lever.............coo oo, 141506
13 CoiN REUM LEVEN ... 141504
14 Catch Basin, Bill Validator ..........ccouovveoeiieeeeeeeeee 095509
15 Catch Basin, Drain TUBE .......couveeeeeeeeeeeeeeeeeeeeeee 825038
16 POS Window, COKE ......oovieiiiiieee e 815007
17 POS Window Plate .........cooovveiiiiiiiee e 123503
18 Security Shelf..........ovviiiiiii 141512
19 T-Handle HOUSING ..o 812190
20 T-Handle Brace ...........cuoeiiiiiiiiiiiieie e 141513
21 LeVEr SIOP woveiieeieeeeeeeeee e 141514
22 CoINCULE ..o 815001
23 Coin Chute COVEN ....eeiiiieeeeeeeeeee e 815002
24 Splash Guard, COKE .......cuuveiieieiiiiieieeeeieeceeeeeee e, 815169
25 L0701 0 T <=1 o] o PP 141508
26 Spring, Select BUtton ...........oeeviiiiiiiiiiiiiiiieeeeeeeee 914004
27 Select Button, CoKe .......ooovueieeeeeeeeeeeeeeeeeeeeeeeee 815165
28 Switch, Miniature ... 835009
29 Carrier Strip Assembly ..........evviiiviiiiiiiiieeieeeeeeeeee e, 815167
30 Button Panel .........cooovveiiii e 815168
31 Retaining Strap ... 141507
32 Screw, #8-32 X 3/8" ... 901011
33 Self-drilling Screw, #8 X 1/2" ..., 902001
34 Screw, #6-32 X 3/8" ... 901004
35 NUL, #8-32 .o 905001
36 NUL, 1/4-20 ..o 905002
37 Wire Tie, Large (4") ccccoeeeeeeiieiveereeeveeeeeeee e 916008
38 STe] [0 I @ 0} g =10 o] o J PP 841009

95



56

Dr. Pepper Main Door Assembly, Front




Dr. Pepper Main Door Assembly, Front

ITEM NO.

1

N

= O©OoONOOULh~,W

12
13
14

15

16
17

NOTE #1:

DESCRIPTION

Main Door Welded Assembly, Dr. Pepper, 79"
Main Door Welded Assembly, Dr. Pepper, 72"
Right Vandal Panel, 79"*

Right Vandal Panel, 72"

Rain Guard, Wide

Top Hinge, Left

Nyliner, 1/2"

T-Screw, #8-32 x 3/4"

Carriage Bolt, 1/4-20 x 1/2"

Pop Rivet, 1/8"

Sign

Trim, Dr. Pepper, 79", Vertical Left Side

Trim, Dr. Pepper, 72", Vertical Left Side

Trim, Dr. Pepper, 79", Top & Bottom

Trim, Dr. Pepper, 72", Top

Trim, Dr. Pepper, 79" & 72", Bottom

Trim, Vertical Top Right Side (79" Vendor only)
Trim, Dr. Pepper, 79", Control Panel Side
Trim, Dr. Pepper, 72", Control Panel Side
Trim, Dr. Pepper, 79" & 72", Bot. Cont. Pnl. Side
Trim, Dr. Pepper, 79" & 72", Vert. Bot. Right Side
Self-drilling Screw, #8 x 1/2"

Denotes that a color must be specified.

PART NO.

100510
101510
010519
011501
010518
810002
916012
901001
901007
908004
SEE NOTE #1
141553
019507
141552
101502
141552
100518
100517
101503
100516
100515
902004

There are various parts. Please specify model and serial number at
the time of order.

S7



Dr. Pepper Main Door Assembly, Rear

58



Dr. Pepper Main Door Assembly, Rear

ITEM NO.

1

N

(022 é) IE >~ ¢V)

10
1
12
13
14
15
16
17
18
19
20
21
22
23

DESCRIPTION

Main Door Welded Assembly, Dr. Pepper, 79" ...............
Main Door Welded Assembly, Dr. Pepper, 72" ...............
High Output Ballast Assembly, 79" .........cccccoiiiiiiiiiininnn,
High Output Ballast Assembly, 72" ...........cccooiiiiiiiiinninnns
SCreW, #8-32 X 112 .. et
Elastic Stop Nut, #8-32 ...,
Lamp Guard, Wide ........cooovviiiiiiiii,
Changer DOOF .........uviiiiiiiiiiieeeeeeeeeeeeee e
Changer Door Assembly ........cooovviviiiiiiiiiiiiii,
COINHOPPET ..ttt
Pop Rivet, 1/8" ...
Self-drilling Screw, #8-18 X 1/2" ...
Latch Strike (for Inner DOOr) .......oovvvvviviiiiiiii,
Latch Roller Bracket ...,
Changer Door Hinge, Bottom ...,
Bottom Coin Chute Assembly .............c.oooieiiiiiiiiiiccc,
Coin Box Weld Assembly ...,
Coin BOX HOUSING ..ovvviiiiieiiieiieeeeeeeeeeeeeee,
SCreW, 1/4-20 X 1 oot
NUL, 1/4-20 oo
Carriage Bolt, 1/4-20 X 1" ..ooveeeeeeeeeeeeeeee e,
Bottom Lampholder, High Output......................ccooeee,
Lamp Bracket ...
Tie RO, DOOK ..o
Top Lampholder, High Output.............ccvvviiiiiiiiiiiiieieeee,
Changer Door Hinge, TOP ...covvviviiiiiiiiiiiiiiiieeieeeeeeeeeeeee,

Denotes that a color must be specified.

PART NO.

100510
101510
100930
101910
901002
905004
012514
010544
011580
815015
908004
902004
812003
010516
010524
010594
010580
010537
901003
905002
901007
842002
010517
811001
842001
010525

59



Dr. Pepper Select Panel Assembly (Regular)




Dr. Pepper Select Panel Assembly (Regular)

ITEM NO. DESCRIPTION PART NO.

1 Main Door Welded Assembly, Dr. Pepper, 79™ ........ccccccvvvvnnneee. 100510
Main Door Welded Assembly, Dr. Pepper, 72™ .........cccccvvvnneeee. 101510

2 Control Panel, Dr. Pepper, Front- 10-select ..., 815086
Control Panel, Dr. Pepper, Front-8-select ........cccccccooeeeeeeenn. 815071
Control Panel, Dr. Pepper, Front-6-select ..........ccccccceeeeeeen. 815088

3 Control Panel, Dr. Pepper, Rear - 10-select .................coeeeeenn. 815087
Control Panel, Dr. Pepper, Rear - 8-seleCt .........ccccccevevveeeeennn, 815072
Control Panel, Dr. Pepper, Rear - 6-select ..........cccccceeeeeeeeeennn, 815089

4 Select Button, Dr. PEPPEr .........ccoooiicccieeeeeeeeeee et 815073

5 Button Spring, Dr. PEPPET .........uuviiiiiiiiiiiieieeeeeeeeeeee e, 914020

6 Switch, Miniature .........cceeoiiiiii e 835001

7 Self-drilling Screw, #8-18 X 1/2" ..., 902004

8 SCrew, #4 X 5/8" ... 902009

9 NUE, H#8-32 . 905001

10 Main DOOr Harness ..........cooiiiiiieiiiiiiiiee e SEE NOTE #1

1 SOId OUELAMP oo 841009

12 Coin Return Cup (old style, Lexan) .......cccccceveeieiiiiieiieeeieieieeen, 815003
Coin Return Cup Welded Assembly (1218 & after) .................... 100560

13 COININSEIT ..o 809006

14 CorrectChange Lamp .........coooiiiiiiiiceeeere e 841010

15 T-Handle ASSEMDIY ......oovviiiiieeeiieee e 812001

16 T-Handle Body ........ccoooiiiiiiiiiiieie e 812134

17 SPIING ettt a e e e e e e SEENOTE #2

18 Pin, T-HaNdI© .......cooiiieee e SEE NOTE #2

19 T-Handle Stud ..........ooiiiiiie e 803006

20 Retainer RiNG ....euoiiieiieeeeeeee e 906005

21 COINCIULE ... 815001

22 Self-tapping Screw, #6-32 X 1/4" ..., 901004

23 CoINChULE COVET ..ot 815002

24 SPHNG PIAte ..o 010511

25 CoiNRetUN SPriNg .....ccee oo 914003

26 Scavenger Link (Coin Return Lever) ...........uevvvviviiiiiieieeeiieee, 810001

27 Validator COVET .........uueiiiiiiiiieieee e 012508

28 Panel Strap (optional) .........ccccvviiiiiiiiiiiiiieeeeceeeeeee 010531

29 LOCK CyliNder COVET ...ttt 161532

* Denotes that a color must be specified.

NOTE #1: There are various parts. Please specify model and serial number at the time of

order.

NOTE #2: This part is not available individually. It must be ordered as an assembly.

61



Wg M-

1000811860 )

N [ &s2)
9 oM 7 37
3 oMY
P o L
9 . mo N2 C)
3
AVmN
E W =
) Sl
o]
ve &L EXl
e
-] N . - I~
5 ON 53 =5
I (O
L Z) Bla = - =[]
(174 ool Big &8 215 7| E8
& =° ©! Dl =]
L & e g _| 8
i 2 :

— i
R B
ity
|
< 2 i
3 w :
]
w0
AV
N RIS {
= Bog
— z
DA g £
m M
Nl w6 - -

62

Y3IINVHD




1106201£6d

9-vOv/eay

VEAD MOTON & SWITTHER

=~=«YEND MECHANISM ASS'Y

T

7

= g

"

<o
3

#Hloulve| Fleelee] Flss]ee
T4 N

H P H a1 § e

1SVTIive

[one]

m [

proyt "
u
ﬂEl
LD
A5y Towa 108
)
3
2 3
L e M
-0~ ] - =)
& ™
N 9 D @ £
™ |2 1] H
{ H
e ]
I I3
3
: R i mm
X I ol H

63




- 3OO

5

190

]
ary b
ou
2%
g i
] 3
o
2 3
A7) .
~ <
T A
3 K wo
3 Ex3
{{’
q
ASSY NOIS d3ILvemnIn

T

110°120°1€64

STHILlus ® SWCLOA OMIA

THE
i

o
o
=
T

$S¥ 1INV K019373

s
25
Tl

av?

&4
o
¥

¥

L5¥v1Ive

D e b £ —
vs lﬂﬂuuu o wel
Tow & NN RES
N & 23
2 B IR
= E L]
m 1] 2
o
>
2
o

]

2ms
=]
ey
s
2

oI
L0

5 ON b

o

D on| W
N

1
)
i
1359708 AvIIY
Tms
WO
o ON
2

VS an
5 O

(X34

24
i

s e,
mmuw.__.uw.. o1 BRHE sugion SIHOLIAG LNO-T105

N
oN
o3

64




170'c20'1864

1237138 6-3%00

' I
1 k4
I 1Sv1ive
! dnvi
dNWY J

nos

TESV IINIVET U35AVAY

o
M
25 }
&
H '
&3 - *
H
g
X
[ &
2w -
3 4
i3 H
43 s
3 x
B a
& a
H
2
g8
3
>3
H
::tF
.
3
ﬁ ?:5 i ’fﬁ §
< - < . < . < « i
“ o 9§ © .u.,h‘,... o gmu uv-ghu b of <o uﬂlgmu g%gu
H 5| E: $ 4
] o ° ° o sdjuo ov]uo
£ X 22122 “Ni2g)=2 z¥|%% 25]¥2 2y |=2 zx|2%2 2¥|22
2 T T l;: 1) T T T
of = o o A4 o -
- & o3 5| oS S o4 o 250 d 4 3
i I3
= Tt JC I L 1 ]
R -
0
T
n N

1af 3 on
20 545 om
4V 9N
ﬁ%g?i&ﬁﬁiifk.,
139208 1v13y ASSY TaUY4_L1D3135
s 3 on
2ns .
] s M
9 a T ey e
i < 3. 08
= TR CRS oL
& 138
HILNAOD
W7 o '
[
) 010,
= ToeE
AvY3
T avrav DNINDIS

ooz




TOO EE£0 TEG

123758 ¢-Co2
K35V WSINYHOIN GNZA
SIHILMEG  SHOLOW IMIA
—
(] 3 Ty
oM
¥S M IRy
38 fr
G 2N 7y N
& 3_o% ETTR
T
¥4
Li4s A Rk e s [E
=i (3 =
N
¥ E) z
T
vr IR A A
q L] .ﬁ”ﬂl H nuy)
B 25
> =
£ " ]
] = f
A @ m
£ H
€ a A
3!
z
&
Eh r N
z !
»
8
<
2 o
<
=5[8 m -
£ ( - r
L¥ mn o
¥
X ﬁ
RS o KN w2
z < 9 23
= =z
@ i SRR
z > Iad B (ad ol [ Y
r »l |» o &
- z| |z %
SIKILIMS SIKILIMS sHoLON > | |© i
SSVIAR YOLOW ONIA ON3A STHILIME 1NO-TI0S «® [
- &
£
<
2
1 .ﬂ_
H >
z
— “
8
8
2
]
b}
i
H

a
14
F

66




100'811'1264

897
Bz

vel
ANET

> o i N
VS oM
L -

5 ON=

giL

LEL

gz

67

LDOOS
HIONVH)

NS

ins

onZ vezZ




R

A SSY WSINYHIIN ON3A
STHILIMS  $HOLOM dNIA
[ e x
2 an
YE N -x M
g ™ I
S onfe ¥
A *
i
a7
: <uw oo o
s = :
S | i
EL TR
e
ke 2 2
ﬂmUu z
o M" M”_ m = = T £ a
H an e n o
QELS 13 B
IN A u ol
o b B Y i
T
T4.3 2
%u WA H
g 2
Sy M ﬁn o
g oTaN i g
A 3!
H
2
T p :
PN 2 m
3 owm |LoR 4
vz o gt 1] 1R |
M Nﬂhﬂu! R
H T v
3 OM fm g
B 5y
S 5 3
H a
hl " =
h 3
2 o
bt w1 W - 2
- LT el : R
=) s : 3 H g
‘ - &
3 2 B +H
. = t @ o8
19 . : ’
O] ~
-— - n
1 a u
3 MS .
1 Mmiu-.rh- leMWr.&ﬂﬂu" mﬂmwnw»l S3IHILIMG LN3-370S © -W-
-
i
~ RN
[e P ee) ‘ . 2
[l 1
oo — Sp—— a
2 H
TR
2

68




100°£60° 16 ~OH ININYIQ
SHOQNZA TVACH

2.S5¥ KEINVHOIN ON3A {

SINILIMS 1 SWOLON ONIA

<
ﬁlﬂ
E
u
13
R
x| Hga
It

on
rﬁmm. i " =
L & &
on
v S BB
e oy ey uu
> owp¥d s i i
%ﬂ “ -
e o ——d————————
3 on| BT v
LABELI R 2
NEL) 4 1 n
P Mg =
5 ONf s
»1
o i
[
I oN m
¥E 3N - Ul 1
ﬂcwﬂux L]
2 on| -9 m
S :
z
N :
d
2 on ril)
vz ow Brd L)
7 n e EF 2 !AT al
2 o ™ : Le  spt |8
o @ m e ¥ nm
w0 ™ 4 SIS s TR
4 - »| |» 2 +oN &
2 v [y zi |z =
\d uxlﬁll:. I > o] |® =
w
_nux.... ’ = %
L onf- o9 m rI_J Ll
- - ﬁf.

AINJ0S AVIIY

L]
on
W03

69




123138 -8

1102201c64

%14

SINILIMS ¥ SNOIOW ON3A

LLELY

o
1o
om
e

]

$
55¥did

4
T
£
Z
TN
I
W .

S3H
MOLOW

R

R

4,"

I

T,
]
2 on W
e N i
CRLPY
N Bl
3O

I

4

SIHDLIMS LNo-070S

ASSY NOIS Q3ivMNniN

1S¥1IvE

L
3 k k 3
T =3 5 E¥ T F¥
o n on on an eon on K
i
i i Bt F FL] Wi
"
.
il
o
a,
L3
o
b4
H
&
&
'“
5
H
py
§
L
5 S
lo
: T e (82
H s o 144
A EH
H R bE
- 0 |
D .13 gl 2|
H ke
l
&
n
&3 =
%
2 @ |1}
x %—«T.
f-u| O
%y
E 4 a N
N.\
AR I
5 4 i
P A
3
T
a
-2 g

70



|
1 [ ; _“ m::’
= s
nnam il
SV RSTRVROIN—ONR e | =
! T
SIHILIMS ISHQLONW ONIA
5 [ L il
343 3 on H k!
YOI o Hﬁu e r
, omucwu 55 —
2 I 4
! g b
a5 gy S ﬁlt
eyt i) 23 ¢
X M = ;7 2_ A
ve % Amm I
UJH, 0 T
' 2 & ow 6 on g7
) 5 oW 3 _ON e 3
3 {H] S5 28 o T | R i
E3H L] &H 5G| Xz *x zz
I 93— o 33)Yd d33 2z EE] 2z
B om ow | . ; i i
- v8 Sub82 L £a R B 20 ol a%3 24
. Fare it LEmmn 371 wr| s P o
& 5 ]
2 S on g 5 onET 3
T
Vet s A LE— U
. &7 =
£23 ] ivs
PARE1] v w" -
ON
. on T L ] 3] =
2 L onky LN
5 L ow 5 owf
7
rabad] 285 £ '
>
e on
s o o ]
; = BT
= 9 N
1 A oM
] _|....
Ho
§ 601z = oo
H ONrEE P
3
. = 5wk © -3
© - oN > -3
z
> 5
"
i Y “a
' 2 1Y V 2
~ L ON[R " R
SR S—— 28
T N ﬂ H
<<
o
£ o . «
. on s " A .
() s - - = =
= x i - =
> L onT =
@ z ¥ 0 =]
g 53 °
it 2 N g
- on 12
: L}
O
N N 2 N
s> P s ow
O_ T
Q
A o :
& L]
N ) 1 ON
- 5 ON
B4
SIHILIMS FAKILIME SHOLOW

S5Vasg HOLOW QN3A ondp SINILIMS  410-0I05

71




Made in the
United States of America

Royal Vendors’ Publication

010127
Rev.D 7-03




